
P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-2001

S.Y. B.A. (Regular) EXAMINATION, 2017

ENGLISH

(Compulsory)

Text Prescribed : Literary Landscapes

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (1) Why did Gandhi decide to give up his efforts to become

a proper English gentleman ?

(2) Write a note on Phatik’s experience at school.

(B) (1) Describe Hazlitt’s attitude towards prejudices and

preconceived judgements.

(2) Discuss why Tharoor thinks that freedom of the press

is necessary for the functioning of democracy.



[5101]-2001 2

2. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (1) Critically appreciate the poem ‘The Quality of Mercy’.

(2) Describe the village schoolmaster in your own words.

(B) (1) How does the poet describe the girl in ‘The Solitary

Reaper’ ?

(2) “O Captain ! My Captain !” was inspired by real events

and persons from American history. Explain.

3. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (1) Why does Rosemary Jell decide to take the poor

beggar girl home ? How did the poor girl react to the

invitation ?

(2) Draw a character sketch of old Behrman.

(B) (1) What were Kalpana Chawla’s thoughts on seeing the Earth

from space for the first time ?

(2) Comment on the use of humour in “My Lost Dollar”.

4. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (1) Why, according to Masefield, is it better to laugh and

be happy ?

(2) Comment on how “Still I Rise”, celebrates the spirit of

the Blacks.
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(B) (1) Discuss how “Another Woman” is about social evil and

personal traumas.

(2) What does the house represent in ‘My Grandmother’s

House’ ?

5. (A) Attempt any six : [6]

(1) She wants to learn ballet.

(Change into a negative sentence)

(2) I am a doctor.

(Change into a negative sentence)

(3) Madurai is an ancient city.

(Rewrite the sentence, adding a question tag)

(4) Mala could’nt run, can she ?

(Correct the sentence)

(5) Kiran and Rani read the book. They did not like it.

(Combine the sentences using a conjunction)

(6) Having finished work for the day, we left the office.

(Change into a compound sentence)

(7) It has been ages since I saw you.

(Identify whether the sentence is simple, compound or

complex)

(8) It is my opinion. The room needs to be painted.

(Combine the sentence into a complex sentence)



[5101]-2001 4

(B) Attempt any two : [10]

(1) Write a paragraph on “The use and misuse of mobile

phones”.

(2) Write a brief report on the Blood Donation Camp organized

in your college.

(3) Write a letter to the Bank Manager informing him of

the change in your address.



P.T.O.

Total No. of Questions—5+4] [Total No. of Printed Pages—6

Seat

No. [5101]-2002

S.Y. B.A. (Regular) EXAMINATION, 2017

MARATHI 

G-2 :

80

 :— (i)

(ii)

[8]



[5101]-2002 2

[7]

(1) Accountant

(2) Basic Pay

(3) Cheque

(4) Dean

(5) Eligibility

(6) Fund

(7) Grant

(8) Honorary

(9) Income Tax

(10) Journalist

(11) Passport

(12) Quorum

(13) Receipt

(14) Text-book.

[10]

(1)

(2)
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(3)

(4)

(5)

(6)

(7)

[15]

(1)

(2)

(3)

(4)

(5)

[16]

(1)

(2)

(1)

(2)



[5101]-2002 4

[24]

(1)

(2)

(1)

(2)



[5101]-2002 5 P.T.O.

[5101]-2002

G-2 :

80

 :— (i)

(ii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

(11)

(12)

(13)

(14)

[10]

(1)

(2)

(1)

(2)
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[20]

(1)

(2)

(1)

(2)

[30]

(1)

(2)

(1)

(2)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-2003

S.Y. B.A. (Regular) EXAMINATION, 2017

MARATHI 

(S-1)

(2013 PATTERN)

80

 : — (i) 

      (ii) 

      (iii) 

 :— (i)

(ii)

1. [15]

(1)

(2)

(3)

(4)

(5)



[5101]-2003 2

2. [10]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

3. [5]

(1)

(2)

4. [20]

(1)

(2)

(1)

(2)



[5101]-2003 3 P.T.O.

5. [30]

(1)

(2)

(1)

(2)



Total No. of Questions—5555] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5101]-2004[5101]-2004[5101]-2004[5101]-2004

S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017

MARATHI MARATHI MARATHI MARATHI 

[[[[ 1818 1818 1818 1818 1960196019601960 ]]]]

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

80808080

 :— :— :— :— (i)

(ii)

1.1.1.1. [10]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

P.T.O.



[5101]-2004 2

2.2.2.2. [10]

(1)

(2)

(3)

(4)

3.3.3.3.  [10]

(1)

(2)

(3)

(4)

4.4.4.4.  [20]

(1)

(2)

(1)

(2)
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5.5.5.5.  [30]

(1)

(2)

(1)

(2)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-2005

S.Y. B.A. (Regular) EXAMINATION, 2017

FRENCH

General—G-2

(Language Skills)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80



[5101]-2005 2



[5101]-2005 3 P.T.O.



[5101]-2005 4



P.T.O.

Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [5101]-2006

S.Y. B.A. (Regular) EXAMINATION, 2017

FRENCH (SPECIAL-1)

La France Dans Le Monde (France in the World)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80



[5101]-2006 2



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-2007

S.Y. B.A. (Regular) EXAMINATION, 2017

FRENCH

(Special Paper 2)

(Business French/French Literature)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

P.T.O.



[5101]-2007 2



[5101]-2007 3 P.T.O.



[5101]-2007 4



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-2008

S.Y. B.A. (Regular) EXAMINATION, 2017

GERMAN GENERAL II

(2013 PATTERN)

Time : Three Hours Maximum Marks : 60

N.B. :— (i) All questions are compulsory.

(ii) This paper also includes listening comprehension of

10 marks and oral exam of 10 marks.

(iii) Use of Dictionary is allowed.



[5101]-2008 2



[5101]-2008 3 P.T.O.

(C)



[5101]-2008 4



P.T.O.

Total No. of Frages—4] [Total No. of Printed Pages—2

Seat

No. [5101]-2009

S.Y. B.A. (Regular) EXAMINATION, 2017
GERMAN

Special Paper I
(History and Literature in 20th Century)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Note :— All questions are compulsory.



[5101]-2009 2



P.T.O.

Total No. of Frages—3] [Total No. of Printed Pages—2

Seat

No. [5101]-2010

S.Y. B.A. (Regular) EXAMINATION, 2017
GERMAN

Special Paper II
(Study of Culture and Literary Works)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Note :— All questions are compulsory.



[5101]-2010 2



Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. [5101]-2012

S.Y. B.A. (Regular) EXAMINATION, 2017

GUJARATI

(G-2)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

P.T.O.



[5101]-2012 2

5.

4.



Total No. of Questions—5] [Total No. of Printed Pages—4

[5101]-2013

S.Y. B.A. (Regular) EXAMINATION, 2017

URDU

General  Paper  II

(2013 PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) Attempt  All questions.

(2) Figures to the left indicate full marks.

P.T.O.

 Seat
  No.



2 [5101]-2013



P.T.O. 3 [5101]-2013



4 [5101]-2013



Total No. of Questions—5] [Total No. of Printed Pages—2

[5101]-2014

S.Y. B.A. (Regular) EXAMINATION, 2017

URDU

Special  Paper  I

[History of Urdu Literature (Prose and Poetry)]

(2013 PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) Attempt  All questions.

(2) Figures to the left indicate full marks.

P.T.O.

 Seat
  No.



2 [5101]-2014



Total No. of Questions—5] [Total No. of Printed Pages—3

[5101]-2015

S.Y. B.A. (Regular) EXAMINATION, 2017

URDU

Special  Paper  II

(Prose  and  Poetry  Texts)

(2013 PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) Attempt  All questions.

(2) Figures to the left side indicate full marks.

P.T.O.

 Seat
  No.



2 [5101]-2015



3 [5101]-2015



Total No. of Questions—5+5] [Total No. of Printed Pages—8

Seat

No. [5101]-2018

S.Y. B.A. (Regular) EXAMINATION, 2017

HINDI : GEN-2

(2013 PATTERN)

80

 :— (i)

(ii)

 :— (i)

(ii)

1. [16]

(i)

(ii)

(iii)

(iv)

(v)

P.T.O.
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2. [16]

(i)

(ii)

(iii)

(iv)

(v)

3. [08]

(i)

(ii)

[08]

(i)
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(ii)

4. [08]

(i)

(ii)

(iii)

[08]

(i)

(ii)

(iii)



[5101]-2018 4

5.

[08]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

[08]

(i)

(ii)



[5101]-2018 5 P.T.O.

[5101]-2018

80

 :— (i)

(ii)

1. [12]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

2. [8]

(i) Application may be rejected

(ii) So far as possible

(iii) The proposal is quite in order

(iv) Draft approved as amended

(v) Enquiries made revel

(vi) Yours faithfully.
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[8]

(i) Bone of contention

(ii) Empty vessels make much noise

(iii) Once in a blue moon

(iv) Out of frying pan into the fire

(v) To look blank

(vi) To make a service.

[8]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

3. [5]
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20% 25% 

3360 

[5]

[6]

We are living in an age of science. Wonderful progress has been

made in every department of life. Throughout the ages, a fierce

contest has been going on between Man and Nature and with

the assistance of science, man has come out successful. All the

forces of nature have been subdued and brought into the service

of mankind. We have conquered water, and move on stormy

ocean as safely as we walk on solid earth. Air, electricity and

fire are now well under control.



[5101]-2018 8

4. [16]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

5. [12]

(i)

(ii)

(iii)

(iv)

(v)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. [5101]-2019

S.Y. B.A. (Regular) EXAMINATION, 2017

I

(Hindi Special-I)

(2013 PATTERN)

80

 :— (i)

(ii)

[6]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

[10]

(1)

(2)

(3)



[5101]-2019 2

(4)

(5)

(6)

(7)

[10]

(1)

(2)

(3)

[18]

(1)

(2)

(3)

(4)

(5)

[12]

(1)

(2)

[24]

(1)

(2)

(3)

(4)



Total No. of Questions—5555] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5101]-2020[5101]-2020[5101]-2020[5101]-2020

S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017

HINDI (Special II)HINDI (Special II)HINDI (Special II)HINDI (Special II)

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

80808080

 :— :— :— :— (i)

(ii)

(iii)

 :— :— :— :— (i)

(ii)

1.1.1.1. [6]

(1)

(2)

(3)

(4)

P.T.O.



[5101]-2020 2

(5)

(6)

(7)

(8)

[10]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

2.2.2.2. [5]

(1)

(2)
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[5]

(1)

(2)

3.3.3.3.  [18]

(1)

(2)

(3)

(4)

(5)

(6)

4.4.4.4.  [12]

(1)

(2)

5.5.5.5.  [24]

(1)

(2)

(3)

(4)



Total No. of Questions—5] [Total No. of Printed Pages—3

[5101]-2021

S.Y. B.A. (Regular) EXAMINATION, 2017

PERSIAN

General Paper  II

(2013 PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

1. Explain the philosophy of life as embodied in the writings of Umar

Khayyam. [15]

Or

Write a note on Rubai. Point out its salient features.

2. Reproduce in your own Persian the views of Umar Khayyam (any

three) : [15]

P.T.O.

 Seat
  No.



3. Explain literary works of Hafiz Shirazi ? [20]

Or

Account for the popularity of Hafiz Shirazi.

4. Reproduce in your own Persian the views of Hafiz Shirazi (any three) :

[15]

5. Explain in Persian or translate and explain the couplets in English or

Urdu or Marathi (any five) : [15]

2 [5101]-2021



3 [5101]-2021



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-2022

S.Y. B.A. (Regular) EXAMINATION, 2017

SANSKRIT

General Paper II

(Gadya & Padya)

(Samskrtarnavah)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate any two each from sections ‘A’ and ‘B’ into Marathi or

English :

Section A

(1)

(2)

[10]



[5101]-2022 2

(3)

Section B

(1)

(2)

(3)

2. Explain with reference to the context any one from Sections ‘A’

and ‘B’ each :

Section A

(1)

(2)

[10]

[5]
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Section B

(1)

(2)

3. Write an essay type answer (any one) : [15]

(1) Explain the advise of  in .

(2) Explain the relvance of the title .

4. Write an essay type answer (any one) : [15]

(1) Explain the of tree.

(2) Praise of Godess in .

5. (A) Write critical notes (any two) : [10]

(1)

(2)

(3)

[5]



[5101]-2022 4

(B) Write answers in Sanskrit language (any five) : [10]

(1)

(2)

(3)

(4)

(5)

(6)

(7)



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-2023

S.Y. B.A. (Regular) EXAMINATION, 2017

SANSKRIT

(Special Paper-I)

1, 6

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

80

1. Explain with reference to the context any two of the following : [10]

(i)

(ii)

(iii)

(iv)

2. (A) Explain with Sanskrit definition and Sanskrit illustration any

one of the following : [5]

(i)

(ii)

(iii)

(iv)

P.T.O.



[5101]-2023 2

(B) Define any one figure of speech along with examples : [5]

(i) (one-type)

(ii)

(iii)

(iv)

(C) Fill in the blanks (any five) : [10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

3. Write essay type answer of any one of the following : [10]

(i) Discuss the definition of  according to .

(ii) Explain purposes of  according to .



[5101]-2023 3 P.T.O.

4. (A) Explain with reference to the context (any two) : [10]

(i)

(ii)

(iii)

(iv)

(B) Match the following (any five) : [10]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

5. Write summary of any two of the following : [20]

(i)

(ii)

(iii)

(iv)



Total No. of Questions—5555] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5101]-2024[5101]-2024[5101]-2024[5101]-2024

S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017

SANSKRITSANSKRITSANSKRITSANSKRIT

Special Paper IISpecial Paper IISpecial Paper IISpecial Paper II

(Vedasaurabha)(Vedasaurabha)(Vedasaurabha)(Vedasaurabha)

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

 :— :— :— :— (i)

All questions are compulsory.

(ii)

Figures to the right indicate full marks.

1.1.1.1. [10]

Translate any two of the following with explanation :

(a)

(b)

P.T.O.
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(c)

2.2.2.2. [20]

Write critical notes on any two of the following :

(i)

(ii)

(iii)

3.3.3.3.  [10]

Write with reference to the context on any two of the following :

(i)

(ii)

(iii)

4.4.4.4.  [20]

Or



[5101]-2024 3 P.T.O.

5.5.5.5. [20]

Answer in Sanskrit (any ten) :

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)



Total No. of Questions—5] [Total No. of Printed Pages—4

[5101]-2027

S.Y. B.A. (Regular) EXAMINATION, 2017

ARABIC

General  Paper  II

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 80

1. Translate into English or Urdu or Marathi any two of the following

passages : [16]

P.T.O.

 Seat

  No.





P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2028

F.Y. B.A. (Regular) EXAMINATION, 2017

ECONOMICS

(G-2 : Modern Banking)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain the evolution of Europe Banking.

(ii) Explain the principles of Commercial Bank.

(iii) Explain the merits and demerits of ATM.

(iv) Explain the characteristics of Promissory Note.

(v) Explain the concept of Tele Banking.

(vi) Explain the structure of Co-operative Banking.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the process of credit creation of Commercial Banks.

(ii) Explain the operation of Current and Saving Account.

(iii) Explain the types of Cheque.

(iv) Explain the concept of Credit Card, Debit Card, Mobile Banking

and Net Banking.



[5101]-2028 2

3. Answer any one of the following questions in 400 words : [20]

(i) Explain the functions of Commercial Banks in detail.

(ii) Explain the instruments of credit control of Reserve Bank.

4. Write short notes on (any four) : [20]

(i) Evolution of Modern Banking in India

(ii) Procedure of closure of Bank Accounts

(iii) Concept of Endorsement

(iv) Concept of SWIFT

(v) Objective of NABARD

(vi) Challenges before Co-operative Banks.

80

 :— (i)

(ii)

(iii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2029

S.Y. B.A. (Regular) EXAMINATION, 2017

ECONOMICS

Special Paper I

(Micro-Economics)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams, if necessary.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the nature of micro-economics.

(2) Explain the concept of revenues.

(3) Explain the characteristics of monopoly.

(4) Explain the backward binding supply curve of labour.

(5) Describe the innovation theory of profit.

(6) Explain the social welfare function.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain basic economic problems.

(2) Explain the types of elasticity of supply.

(3) Explain the modern theory of rent.

(4) Explain the Pigovian welfare economics.



[5101]-2029 2

3. Answer the following questions in 400 words (any one) : [20]

(1) What is price elasticity of demand ? Explain the types of price

elasticity of demand.

(2) Explain the short-run equilibrium of the firm under perfect

competition.

4. Write short notes on (any four) : [20]

(1) Law of return to scale

(2) Determinants of supply

(3) Demand for money motive

(4) Risk and uncertainty theory of profit

(5) Oligopoly

(6) Thought of Amartya Sen.

80

 :— (i)

(ii)

(iii)

(iv)

[20]

(1)

(2)
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(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—4444] [Total No. of Printed Pages—4444

SeatSeatSeatSeat

No.No.No.No. [5101]-2030[5101]-2030[5101]-2030[5101]-2030

S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017

ECONOMICSECONOMICSECONOMICSECONOMICS

Special Paper IISpecial Paper IISpecial Paper IISpecial Paper II

(Macro-Economics)(Macro-Economics)(Macro-Economics)(Macro-Economics)

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1.1.1.1. Answer the following questions in 100100100100 words each : [20]

(i) Explain the nature of macro-economics.

(ii) State the definition of average and marginal propensity to

consume.

(iii) State the instruments of fiscal policy.

(iv) Explain the demand-pull inflation.

(v) State the Marshal’s equation

(vi) State the objectives of macro-economic policy.

P.T.O.
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2.2.2.2. Answer the following questions in 200 200 200 200 words each (any two) : [20]

(i) Explain Say’s law of market.

(ii) Explain the causes of inflation.

(iii) What is consumption function ? Explain the factors influencing

consumption function.

(iv) Explain the functions of money.

3.3.3.3. Answer the following questions in 400 400 400 400 words (any one) :  [20]

(i) What is National income ? Explain the difficulties in measurement

of national income.

(ii) What is business cycle ? Explain the phases of business cycle

with a neat diagram.

4.4.4.4. Write short notes on any four (in 100 100 100 100 words each) :  [20]

(i) Scope of macro-economics

(ii) Effective demand

(iii) Instruments of monetary policy

(iv) Advantages of fiscal policy

(v) Deflation

(vi) Fisher’s equation of exchange
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80808080

 :— :— :— :— (i)

(ii)

(iii)

(iv)

1.1.1.1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

2.2.2.2. [20]

(i)

(ii)

(iii)

(iv)

3.3.3.3.  [20]

(i)

(ii)
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4.4.4.4.  [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5101]-2031

S.Y. B.A. (Regular) EXAMINATION, 2017

POLITICAL SCIENCE

General Paper-II

(Government and Politics of UK, USA)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]

(1) Origin and the development of the Constitution of America

(2) Party system in England

(3) District Court in America

(4) Position of the England King

(5) Ethnic movement in America

(6) Nature of British Judiciary.

2. Attempt any two questions (in 200 words each) : [20]

(1) Explain the structure and functions of the Local Government

in America.

(2) Explain the powers and functions of the Prime Minister of

England.

(3) Give the Performance of Women’s Movement in America.

(4) Trace the origin and development of the Constitution of

England.
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3. Attempt any one question (in 400 words) : [20]

(1) Explain the salient features of the Constitution of England.

(2) Discuss the powers and position of the President of

America.

4. Write short notes on (any four) : [20]

(1) Party System in America

(2) Senate : The Most Powerful Chamber

(3) Women’s Movement in England

(4) Local Government Structure in England

(5) Role of Pressure Groups in England

(6) Human Rights Movement in America.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[5101]-2031

(Political Theory and Concepts)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]

(1) Explain nature of political theory.

(2) Explain concept of political liberty.

(3) State the characteristics of power.

(4) Explain characteristics of democracy.

(5) State the characteristics of sovereignty.

(6) What is Globalization ?

2. Attempt any two questions (in 200 words each) : [20]

(1) Explain Marxist concept of state.

(2) Explain Foucault on Power.

(3) Explain the type of rights.

(4) Explain the concept of affirmative action.

3. Attempt any one question (in 400 words) : [20]

(1) What is meant by justice ? Explain its types.

(2) Explain the essential conditions of a successful democracy.
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4. Write short notes on (any four) : [20]

(1) Characteristics of political theory

(2) Significance of rights

(3) Development of Globalization

(4) Population as an element of state

(5) State nature of authority

(6) Concept of hegemony.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)
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(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2032

S.Y. B.A. (Regular) EXAMINATION, 2017

POLITICAL SCIENCE

Special Paper I

(S-1 : Western Political Thought)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]

(1) Plato’s views on communism.

(2) Machiavelli’s views on Human Nature.

(3) J.S. Mill’s views on Liberty.

(4) Hobbes’ views on state of Nature.

(5) Aristotle’s views on Slavery.

(6) Rousseau’s concept of General Will.

2. Attempt any two questions (in 200 words each) : [20]

(1) Explain Plato’s views on Education.

(2) Explain Locke’s theory of social contract.

(3) Examine Marx’s theory of class struggle.

(4) Explain J.S. Mill’s concept of Representative Government.
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3. Attempt any one question (in 400 words) : [20]

(1) Critically examine the Marxian theory of Historical Materialism.

(2) Explain the Aristotle’s views on Revolution.

4. Write short notes on (any four) : [20]

(1) J.S. Mill’s views on utilitarianism.

(2) John Locke’s views on Civil Society.

(3) Machiavelli’s views on Religion.

(4) Rousseau’s views on Government.

(5) Aristotle’s views on Property.

(6) Rousseau’s state of Nature.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—4444] [Total No. of Printed Pages—3333

SeatSeatSeatSeat

No.No.No.No. [5101]-2033[5101]-2033[5101]-2033[5101]-2033

S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017

POLITICAL SCIENCEPOLITICAL SCIENCEPOLITICAL SCIENCEPOLITICAL SCIENCE

Special Paper IISpecial Paper IISpecial Paper IISpecial Paper II

(Political Sociology)(Political Sociology)(Political Sociology)(Political Sociology)

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Attempt any four questions (in 100100100100 words each) : [20]

(i) What do you mean by political culture ?

(ii) What is political ideology ?

(iii) What do you mean by political change ?

(iv) What is political development ?

(v) Describe the nature of political influence ?

(vi) Explain the meaning of political sociology ?

2.2.2.2. Attempt any two questions (in 200200200200 words each) : [20]

(i) What are the different types of political change ?

P.T.O.
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(ii) Describe the nature of political culture.

(iii) State the types of political participation

(iv) Contribution of Max Weber in political sociology.

3.3.3.3. Attempt any one question (in 400400400400 words) :  [20]

(i) Explain the definition, nature and scope of political sociology.

(ii) Explain the meaning and levels of political participation.

4.4.4.4. Write short notes on any four :  [20]

(i) Influence

(ii) Concept of political development

(iii) Political change

(iv) Behavioural approach

(v) Sub-culture

(vi) Importance of political recruitment.

80808080

 :— :— :— :— (i)

(ii)

(iii)

1.1.1.1. [20]

(i)
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(ii)

(iii)

(iv)

(v)

(vi)

2.2.2.2. [20]

(i)

(ii)

(iii)

(iv)

3.3.3.3.  [20]

(i)

(ii)

4.4.4.4.  [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2034

S.Y. B.A. (Regular) EXAMINATION, 2017

HISTORY

General Paper II

[Modern India (1857-1950)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the concept of Modernity.

(2) State the principles of Prarthana Samaj.

(3) Explain the Four-Fold programme of Extremists.

(4) State the Nature of the ‘Dandi Satyagrah’.

(5) What is meant by ‘Two Nation Theory’ ?

(6) Explain the Nature of Crips Mission.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Assess the various views about the Rising of 1857.

(2) Explain the countribution of Abhinav Bharat in Revolutionary

Movement.
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(3) Explain the nature and importance of Non-co-operation

Movement.

(4) Discuss the consequences of the Partition in 1947.

3. Answer the following question in 400 words (any one) : [20]

(1) Explain the contribution of Brahmo Samaj in Social Reform

Movement.

(2) Give an account of Peasent Movement in India.

4. Write short notes on (any four) : [20]

(1) Nationalism

(2) Objectives of Indian National Congress

(3) British Policy about Famine

(4) Morley Minto Act, 1909

(5) Concept of Dalit

(6) Razakar.

80

 :— (i)

(ii)

(iii)

[20]

(1)
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(2)

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5101]-2035

S.Y. B.A. (Regular) EXAMINATION, 2017

HISTORY

Special Paper I

[Ancient India (3000 B.C. to 1206 A.D.)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain ‘How coin is the sources of History’.

(2) Saptang theory.

(3) Explain the process of urbanisation.

(4) Explain the detective system of Ashoka.

(5) Write note on Sangam Literature.

(6) Brief Survey of Cultural Contribution of Chola.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Write detailed note on Vedic literature.

(2) Discuss the causes of Decline of Mauryas empire.

(3) Explain the achievements of Harshavardhana.

(4) Discuss on cultural life of Pallavas.
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3. Answer any one of the following questions in 400 words : [20]

(1) Explain the search, scope and features of Harappan Culture.

(2) Write the definition of ‘Classical Age’, Imperial Gupta’s period

was the classical Age. Discuss this sentence.

4. Write short notes on (any four) : [20]

(1) Bharatvarsh

(2) Charvak

(3) Sanchi Stupa

(4) Nagarjun Konda

(5) Allahabad Pillar Inscription

(6) Ajintha Caves.

80

 :— (i)

(ii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



[5101]-2035 3 P.T.O.

[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[5101]-2035

[Diplomatic History of Marathas (1707 to 1818)]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Define Farasi sources for study of the history of the Marathas.

(2) Explain the concept of ‘Pargana’.

(3) Write a short note on ‘Balaji Vishwanath’.

(4) Discuss in brief the relations of the Marathas and Tipu Sultan.

(5) What is the importance of the Treaty of Salbai in Maratha

history ?

(6) Review Judicial administration of the Marathas.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Review the relations between Peshwa Bajirao I and Nizam.

(2) Assess the achievements of Mahadaji Shinde.

(3) Explain the role of Barbhai Council in the Maratha history.

(4) Discuss the central administration of Marathas.

3. Answer any one of the following questions in 400 words : [20]

(1) Explain the expansion of the Maratha power in South during

the period of Peshwa Nanasaheb.

(2) Examine the causes and consequences of the Battle of Panipat.
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4. Write short notes on (any four) : [20]

(1) Charter of ‘Swarajya’

(2) Maratha Mandal

(3) Peshwa Narayanrao

(4) The Treaty of Bassain

(5) Nana Fadnis.

(6) Local administration.

80

 :— (i)

(ii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)
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(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—4+44+44+44+4] [Total No. of Printed Pages—8888

SeatSeatSeatSeat

No.No.No.No. [5101]-2036[5101]-2036[5101]-2036[5101]-2036

S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017

HISTORYHISTORYHISTORYHISTORY

Special Paper IISpecial Paper IISpecial Paper IISpecial Paper II

[History of Modern Maharashtra (1818 to 1960)][History of Modern Maharashtra (1818 to 1960)][History of Modern Maharashtra (1818 to 1960)][History of Modern Maharashtra (1818 to 1960)]

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Answer the following questions in 100 100 100 100 words each (any four) : [20]

(1) What was the four points programme of Lokmanya Tilak ?

(2) Write social work of Jagannath Shankarsheth.

(3) Write the thoughts of Gopal Ganesh Agarkar on social reforms.

(4) What were the causes of tribal uprising in Maharashtra ?

(5) What was the contribution of city of Solapur to the Civil

Disobedience Movement in Maharashtra ?

(6) What were the provisions of Nagpur Pact of 1953 ?

P.T.O.
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2.2.2.2. Answer the following questions in 200 200 200 200 words each (any two) : [20]

(1) Explain the political condition of Maharashtra in early 19th

century.

(2) Write the contribution of Karmaveer Bhaurao Patil to spread

of education.

(3) Explain the contribution of Maharashtra to Non-coperation

Movement.

(4) Explain the contribution of Arya Samaj to Marathwada Liberation

Movement.

3.3.3.3. Answer any one of the following questions in 400400400400 words :  [20]

(1) Write the work of Mahatma Phule for downtrodden people

of society.

(2) Account for contribution of Maharashtra to Quit India Movement.

4.4.4.4. Write short notes on (any four) :  [20]

(1) Nationalism

(2) Extremists Ideology

(3) Work of Lokhitwadi

(4) Political thoughts of G.K. Gokhale

(5) Dalit Movement in Maharashtra

(6) Adivasi Movement in Maharashtra.
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80808080

 :— :— :— :— (i)

(ii)

1.1.1.1. [20]

(1)

(2)

(3)

(4)

(5)

(6)

2.2.2.2. [20]

(1)

(2)

(3)

(4)
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3.3.3.3.  [20]

(1)

(2)

4.4.4.4.  [20]

(1)

(2)

(3)

(4)

(5)

(6)
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[5101]-2036[5101]-2036[5101]-2036[5101]-2036

[Medieval India (1206 to 1707)][Medieval India (1206 to 1707)][Medieval India (1206 to 1707)][Medieval India (1206 to 1707)]

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Answer the following questions in 100 100 100 100 words each (any four) : [20]

(1) Explain the term ‘Kingship’.

(2) What is ‘Jiziyah’ ?

(3) Explain the importance of transfer of capital from Delhi to

Daulatabad by Muhammad-bin-Tughlaq.

(4) Write types of land under the Land Revenue System of the

Mughals.

(5) Why is Taj Mahal known as the culmination of the Mughal

Architecture ?

(6) Explain Aurangzeb’s views about Adilshahi.

2.2.2.2. Answer the following questions in 200  200  200  200 words each (any two) : [20]

(1) Examine the archaeological sources for study of the Delhi Sultanate.
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(2) Review the administration of the Vijayanagar Kingdom.

(3) Evaluate the reforms of Sher Shah Suri.

(4) Discuss the architecture of the Mughals.

3.3.3.3. Answer any one of the following questions in 400 400 400 400 words :  [20]

(1) Discuss the rise and growth of the Bhakti Movement and its

impact on the medieval Indian society.

(2) Review the Mughal Administration in detail.

4.4.4.4. Write short notes on (any four) :  [20]

(1) Amir Khusro

(2) Shahana-i-Mandi

(3) Mahmud Gawan

(4) Zabti or Todarmal’s Bandobast

(5) Mughal painting

(6) Akbar’s Rajput Policy.

80808080

 :— :— :— :— (i)

(ii)
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1.1.1.1. [20]

(1)

(2)

(3)

(4)

(5)

(6)

2.2.2.2. [20]

(1)

(2)

(3)

(4)

3.3.3.3.  [20]

(1)

(2)
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4.4.4.4.  [20]

(1)

(2)

(3)

(4)

(5)

(6)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2037

S.Y. B.A. (Regular) EXAMINATION, 2017

ANTHROPOLOGY

(G-II : Indian Tribes and Tribal Development)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following in 100 words each : [20]

(1) Write about the field work tradition in Anthropology.

(2) State the concept of ‘Tribal Development’.

(3) What is Ethnography ?

(4) Explain the tribal movements before Independence.

(5) What is report writing ?

(6) Explain Illiteracy problem in Indian Tribes.

2. Answer any two of the following in 200 words each : [20]

(1) Explain the causes of tribal movements in India.

(2) Explain the various types of interviews.

(3) Describe the various approaches of Tribal Development.

(4) Write the Geographical Distribution of Indian tribe.
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3. Answer any one of the following in 400 words : [20]

(1) Explain the structure and function of Youth Dormitories.

(2) Evaluate the policy of protective discrimination for scheduled

tribes.

4. Write short notes on any four of the following : [20]

(1) Ghotul

(2) Participation of tribes in freedom movement

(3) Integrated Tribal Development Programme

(4) Tribal Development Corporation

(5) Tribal Application

(6) Rapport establishment.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)
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(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [5101]-2038

S.Y. B.A. (Regular) EXAMINATION, 2017

GEOGRAPHY-G2

(Gg-210 : Elements of Climatology and Oceanography)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer in 20 words each (any ten) : [20]

(1) What is atmosphere ?

(2) Define Troposphere.

(3) What is Insolation ?

(4) Write any two names of gases in the atmosphere.

(5) What is air pressure ?

(6) Write any two types of clouds.

(7) What is Humidity ?

(8) Write any two names of local winds.

(9) Define Cyclone.

(10) What is Coastline ?

P.T.O.
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(11) Write the name of world oceans.

(12) Write any two names of resources available in the ocean.

(13) What is density of ocean water ?

(14) Write types of movements of ocean water.

(15) Write any two names of warm ocean currents.

2. Answer in 50 words each (any two) : [10]

(1) Sea and land breezes.

(2) Importance of coastal environment.

(3) Sources of moisture.

(4) Importance of oceanography.

3. Answer in 150 words each (any two) : [20]

(1) Describe causes of Global Warming.

(2) Write scope of oceanography.

(3) Describe factors affecting on salinity of ocean water.

(4) Explain formation of pressure belts.

4. Answer in 300 words each (any two) : [30]

(1) Elaborate the importance of climatology.

(2) Explain the relief of Atlantic ocean in detail.

(3) Explain types of rainfall with the help of suitable daigram.

(4) Write causes and effects of Tsunami.



[5101]-2038 3 P.T.O.

80

 :— (i)

(ii)

(iii)

(iv)

(v)

1. [20]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

(11)

(12)

(13)

(14)

(15)
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2. [10]

(1)

(2)

(3)

(4)

3. [20]

(1)

(2)

(3)

(4)

4. [30]

(1)

(2)

(3)

(4)
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[5101]-2038

(Gg-210 : Geography of Disaster Management)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) : [20]

(1) Define the Manmade Disaster.

(2) What is Natural Hazard ?

(3) Define the Management.

(4) Write any two aims of disaster management.

(5) Write any two functions of Health department in disaster

management.

(6) State any four names of media.

(7) Write the types of cyclone.

(8) What is Tsunami ?

(9) Define the Landslide.

(10) Define the forest fire.

(11) Give any two examples of exhaustible resources.

(12) What is depletion of zone ?

(13) What is Greenhouse effect ?

(14) Give any two examples of Biological disaster.

(15) In which state Kedarnath cloudburst occurred ?
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2. Answer in about 50 words each (any two) : [10]

(1) Pre-disaster management

(2) Causes of droughts

(3) Management of soil degradation

(4) Causes of global warming.

3. Answer in about 150 words each (any two) : [20]

(1) Explain the post-disaster managment.

(2) Explain the causes of floods.

(3) Give the causes of deforestation.

(4) What is Acid rain ? Explain effects of Acid rain.

4. Answer in 300 words each (any two) : [30]

(1) What is disaster ? Explain the classification of disaster in

detail.

(2) What is disaster management ? Describe the standard

operating procedure of disaster management at Government

level.

(3) Define an earthquake and explain the causes and effects of

earthquake.

(4) Give an account of Hail storm in Maharashtra 2014 in

detail.
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80

 :— (i)

(ii)

(iii)

(iv)

(v)

1. [20]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

(11)

(12)

(13)

(14)

(15)
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2. [10]

(1)

(2)

(3)

(4)

3. [20]

(1)

(2)

(3)

(4)

4. [30]

(1)

(2)

(3)

(4)



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [5101]-2039

S.Y. B.A. (Regular) EXAMINATION, 2017

GEOGRAPHY

[Gg-220 : Economic Geography (S-1)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in 20 words each (any ten) : [20]

(1) State the approaches to the study of Economic Geography.

(2) Give the names of tertiary economic activities.

(3) Name any four non-renewable resources.

(4) Give the types of coal.

(5) Write the names of major iron ore producing countries.

(6) Give the importance of wind energy.

(7) Name the leading countries in paper industry.

(8) Give the names of major countries producing wheat.

(9) State the major countries which have developed commercial

agriculture.
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(10) Give the physical factors affecting agriculture.

(11) What are the various crops grown in plantation agriculture ?

(12) What are the factors influencing transportation ?

(13) What do you mean by economic development ?

(14) What is globalisation ?

(15) In which countries there is a dense network of railways ?

2. Answer in 50 words each (any two) : [10]

(1) Describe the characteristics of developing countries.

(2) Explain the importance of natural resources.

(3) Give the world distribution of manganese ore.

(4) Explain the production and distribution of rice crop worldwide.

3. Answer in 150 words each (any two) : [20]

(1) Describe the nature and scope of economic geography.

(2) Explain the role of agriculture in Indian economy.

(3) Describe the primary occupations.

(4) Explain the ‘World Trade Organisation’.

4. Answer in 300 words each (any two) : [30]

(1) Discuss the conservation of natural resources.

(2) Describe Weber’s Theory of Industrial location.

(3) Give an account of world iron and steel industry.

(4) Explain the factors influencing international trade.
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80

 :— (i)

(ii)

(iii)

(iv)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

(11)

(12)

(13)

(14)

(15)
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[10]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

(3)

(4) (WTO)

[30]

(1)

(2)

(3)

(4)
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[5101]-2039

[Gg-220 : Tourism Geography (S-1)]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each

(any ten) : [20]

(1) What is tourism ?

(2) Write seasonal nature of tourism.

(3) Give two names of adventure tourism.

(4) What is ecotourism ?

(5) Give two names of waterfall in India.

(6) Give two names of national parks in India.

(7) State any two places of sport tourism.

(8) Give two characteristics of Warli painting.

(9) How electronic media helps tourism industry ?

(10) Give importance of tourist guide in tourism industry.

(11) Write any two types of accommodation.

(12) State any two effects of tourism on environment.

(13) Give two names of traditional arts in India.

(14) Give importance of tourism activities at hill stations.

(15) In which state Vaishnodevi tourist place is located ?
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2. Write notes on the following in 50 words each (any two) : [10]

(1) Concept of International tourism

(2) Religious tourist centres in India

(3) Houseboat accommodation

(4) Konark Sun Temple.

3. Answer the following questions in about 150 words each

(any two) : [20]

(1) Explain the interdisciplinary nature of Tourism Geography.

(2) How do national parks and sanctuaries attract tourists ?

(3) Give importance of travel and tourist agencies.

(4) Social impact of neo-colonialism on tourism industry.

4. Answer the following questions in about 300 words each

(any two) : [30]

(1) Discuss various tourism types based on travel time and

distance.

(2) Describe the importance of religious places and beach resorts

in India.

(3) Explain in detail the role of transportation and communication

in tourism industry.

(4) What is tourism ? Explain the impact of tourism as an economic

activity.
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80

 :— (i)

(ii)

(iii)

(iv)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

(11)

(12)

(13)

(14)

(15)
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[10]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

(3)

(4)

[30]

(1)

(2)

(3)

(4)



Total No. of Questions—7+5+5] [Total No. of Printed Pages—4

Seat

No. [5101]-2040

S.Y. B.A. (Regular) EXAMINATION, 2017

MUSIC

(2013 PATTERN)

20

 :— (i)

(ii)

(iii)

1.

2.

3.

(i)

(ii)

(iii)

4.

(i)

(ii)

P.T.O.
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(iii)

(iv)

(v)

(vi)

(vii)

5.

(i)

(ii)

(iii)

(iv)

6.

(i)

(ii)

(iii)

7.

(i)

(ii)

(iii)

(iv)



[5101]-2040 3 P.T.O.

[5101]-2040

20

 :— (i)

(ii)

(iii)

1.

2.

3.

(i)

(ii)

(iii)

(iv)

(v)

4.

5.

(i)

(ii)

(iii)
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[5101]-2040

20

 :— (i)

(ii)

(iii)

1.

2.

3.

(i)

(ii)

(iii)

(iv)

4.

(i)

(ii)

5.



Total No. of Questions—7+7+7] [Total No. of Printed Pages—5

Seat

No. [5101]-2041

S.Y. B.A. (Regular) EXAMINATION, 2017

MUSIC

(2013 PATTERN)

20

 :— (i)

(ii)

(iii)

1.

2.

3.

4.

(1)

P.T.O.
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(2)

(3)

(4)

5.

(1)

(2)

(3)

(4)

6.

(1)

(2)

(3)

7.

(1)

(2)

(3)
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[5101]-2041

20

 :— (i)

(ii)

(iii)

1.

2.

3.

4.

5.

6.

(1)

(2)

(3)

7.
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[5101]-2041

20

 :— (i)

(ii)

(iii)

1.

2.

3.

4.

(1)

(2)

(3)

(4)

5.

(1)

(2)

(3)

(4)
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6.

(1)

(2)

(3)

7.

(1)

(2)

(3)



Total No. of Questions—7+7+7] [Total No. of Printed Pages—5

Seat

No. [5101]-2042

S.Y. B.A. (Regular) EXAMINATION, 2017

MUSIC

(2013 PATTERN)

20

 :— (i)

(ii)

(iii)

1.

2.

3.

4.

(i)

(ii)

(iii)

(iv)

P.T.O.
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5.

(i)

(ii)

(iii)

(iv)

6.

(i)

(ii)

(iii)

7.

(i)

(ii)

(iii)
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[5101]-2042

20

 :— (i)

(ii)

(iii)

1.

2.

3.

4.

(i)

(ii)

(iii)

(iv)

5.

(i)

(ii)

(iii)

(iv)
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6.

(i)

(ii)

(iii)

7.

(i)

(ii)

(iii)
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[5101]-2042

20

 :— (i)

(ii)

(iii)

1.

2.

3.

4.

5.

6.

(i)

(ii)

(iii)

7.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2043

S.Y. B.A. (Regular) EXAMINATION, 2017

PUBLIC ADMINISTRATION

G-2 : Indian Administration

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Significance of 1935 Act

(ii) Welfare State

(iii) Composition of Election Commission

(iv) Planning Commission

(v) Role of Governor

(vi) Lokayukta.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Cantonment Board

(ii) Functions of Block Development Officer

(iii) Composition of High Court

(iv) Functions of Gram Panchayat.

P.T.O.
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3. Answer any one of the following questions in 400 words : [20]

(i) Explain the powers and functions of Prime Minister of

India.

(ii) Explain the composition, power and functions of Zilla Parishad.

4. Write short notes on (any four) : [20]

(i) Vice-President

(ii) Functions of Rajya Sabha

(iii) National Human Rights Commission

(iv) Functions of Municipal Council

(v) Right to Information

(vi) The State Secretariat.

80

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2044

S.Y. B.A. (Regular) EXAMINATION, 2017

PUBLIC ADMINISTRATION

CS-1 : Personnel Administration

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Importance of Personnel Administration.

(2) Meaning of Civil Service

(3) Types of Recruitment

(4) Principles of Promotion

(5) Administrative Accountability

(6) Whitley Council.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Featuresof Civil Service

(2) Importance of Recruitment

(3) Needs of Retirement

(4) Right to Strike.

3. Answer any one of the following questions in 400 words : [20]

(1) Describe the methods of Recruitment.

(2) Explain the new concept of personnel administration.
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4. Write short notes on (any four) : [20]

(1) Meaning of Personnel Administration

(2) Functions of Civil Service

(3) Objective of Training

(4) Benefits of Retirement

(5) Discipline

(6) Administrative Tribunal.

80

 :— (i)

(ii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2045

S.Y. B.A. (Regular) EXAMINATION, 2017

PUBLIC ADMINISTRATION

S-2 : Local Self Government of Maharashtra

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Meaning of Local Self Government

(ii) Importance of Gram Sabha

(iii) President of Panchayat Samiti

(iv) Financial sources of Municipal Corporation

(v) Mahatma Gandhi Tanta Mukti Abhiyan

(vi) Corruption in Local Self Government.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Importance of Local Self Government

(ii) Functions of B.D.O

(iii) Balwantrai Mehta Committee

(iv) 74th Constitutional Amendment.

P.T.O.
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3. Answer any one of the following questions in 400 words : [20]

(i) Explain composition, power and functions of Zilla Parishad.

(ii) Explain the composition, power and functions of Cantonment

Board.

4. Write short notes on (any four) : [20]

(i) Functions of Sarpanch

(ii) Mayor

(iii) Chief Officer of Municipal Council

(iv) Sant Gadagebaba Gram Swachata Abhiyan

(v) Political Interference

(vi) Financial Problem.

80

 :— (i)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2046

S.Y. B.A. (Regular) EXAMINATION, 2017

PSYCHOLOGY

Paper-II (General)

(Social Psychology)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain the levels of aggression.

(ii) Describe the related fields of social psychology.

(iii) Explain the concept of ‘Self’.

(iv) Explain the components of attitudes.

(v) What is the social rejection ?

(vi) What is the pro-social behaviour ?

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the close relationship.

(ii) Describe the characteristics of leadership.

(iii) Explain the theories in social psychology.

(iv) Explain the causes of prejudice.

P.T.O.
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3. Answer the following questions in 400 words each (any one) : [20]

(i) Define aggression. Explain the causes and theories of aggression.

(ii) Define communication. Describe the process of communication.

4. Write short notes in 50 words each (any four) : [20]

(i) Impression management

(ii) Commitment to social responsible behaviour

(iii) Co-operation Vs. Competition

(iv) Gender

(v) Group

(vi) Internal determinants of attraction.

80

 :— (i)

(ii)

(iii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—4+4+4+4] [Total No. of Printed Pages—12

Seat

No. [5101]-2047

S.Y. B.A. (Regular) EXAMINATION, 2017

PSYCHOLOGY

S-1 : Abnormal Psychology

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) State the Schizoaffective disorder.

(2) What is Depression ?

(3) State Generalized Anxiety disorder.

(4) What is Narcolepsy ?

(5) What is Sexual dysfunctions ?

(6) State the characteristics of personality disorders.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Describe the etiological factors of Schizophrenia.

(2) Explain the various symptoms of obsessive-compulsive disorders.

(3) Illustrate various types of eating disorders.

(4) Explain the types and causes of Intellectual disabilities.
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3. Answer any one of the following question in 400 words : [20]

(1) Define Abnormal behaviour. Discuss different perspectives of

psychopathology.

(2) What is Dissociative disorder ? Explain the types of dissociative

disorders.

4. Write short notes on (any four) : [20]

(1) Delusional disorder

(2) Bipolar disorder

(3) Acute stress

(4) Delirium

(5) Autism

(6) Schizotypal Personality Disorder.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[5101]-2047

S-1 : Psychology of Adjustment

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) What is Marital Adjustment ?

(2) State the problems with female role.

(3) What is Job Stress ?

(4) State the nature of health psychology.

(5) What are the emotional responses to stress ?

(6) What is Coping ?

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the marital adjustment across the family life cycle.

(2) Discuss the biological and environmental origins of gender

differences.

(3) Explain the models of illness.

(4) What is Stress ? Discuss various types of stress.

3. Answer any one of the following question in 400 words : [20]

(1) What is Psychology of Adjustment ? Explain psychodynamic

perspective for adjustment.

(2) Illustrate various personality disorders.
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4. Write short notes on (any four) : [20]

(1) Co-habitation

(2) Gender Stereotypes

(3) Sexual Harassment

(4) Mind-Body connection

(5) Burn out

(6) Blaming Yourself.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[5101]-2047

S-1 : Abnormal Psychology

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What are the symptoms of Schizophrenia ?

(2) State Bipolar disorders.

(3) How psychotherapy is needful for today ?

(4) State the professionals in Psychotherapy.

2. Write short notes in 100 words each (any four) : [20]

(1) Brief Psychotic Disorder

(2) Obsessive-Compulsive Disorder

(3) Antisocial Personality Disorder

(4) Success in Psychotherapy

(5) Modelling

(6) Yoga Therapy.

3. Answer the following questions in 200-250 words each (any three) : [30]

(1) Explain the subtypes of Schizophrenia.

(2) What is Phobia ? Illustrate different kinds of Phobia.

(3) Discuss in detail about Dissociative disorder.

(4) Describe the systematic desensitization therapy.

(5) Discuss in detail on Transactional Analysis (TA).
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4. Answer any one of the following question in 500 words : [20]

(1) What is abnormal behaviour ? As per DSM-IV classification,

what are the major diagnostic categories of abnormal

behaviour ?

(2) Illustrate Rational Emotive Behaviour Therapy (REBT).

80

 :— (i)

(ii)

(iii)

[10]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[30]

(1)

(2)

(3)

(4)

(5)

[20]

(1)

(2)
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[5101]-2047

S-1 : Psychology of Adjustment

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of financial difficulties.

(2) State catatonic schizophrenia disorder.

(3) What is health psychology ?

(4) Explain the concept of coping behaviour.

2. Write short notes in 100 words each (any four) : [20]

(1) Bandura’s behavioural perspectives

(2) Work-holism

(3) Anxiety disorder

(4) Placebo Treatment

(5) Frustration

(6) Smoking.

3. Answer the following questions in 200-250 words each (any three) : [30]

(1) What is Divorce ? Discuss in detail the effects of divorce.

(2) Describe the models of career choice and development.

(3) Discuss on DSM-IV classification of abnormal behaviour.

(4) Discuss stress. Explain the nature of stress.

(5) Describe various eating disorders.
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4. Answer any one of the following question in 500 words : [20]

(1) What is Happiness ? Explain the roots of happiness.

(2) What is coping ? Discuss the patterns of common coping.

80

 :— (i)

(ii)

(iii)

[10]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[30]

(1)

(2)

(3)

(4)

(5)

[20]

(1)

(2)



Total No. of Questions—4+44+44+44+4] [Total No. of Printed Pages—8888

SeatSeatSeatSeat

No.No.No.No. [5101]-2048[5101]-2048[5101]-2048[5101]-2048

S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017

PSYCHOLOGYPSYCHOLOGYPSYCHOLOGYPSYCHOLOGY

(S-II : Developmental Psychology)(S-II : Developmental Psychology)(S-II : Developmental Psychology)(S-II : Developmental Psychology)

Special Paper IISpecial Paper IISpecial Paper IISpecial Paper II

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Answer the following questions in 100 100 100 100 words each (any four) : [20]

(1) What are the hazards in pre-natal stage ?

(2) Describe the friendship relationship in early childhood.

(3) Describe the auditory impairments in middle childhood.

(4) State the psychological problems in late adulthood.

(5) Explain Stenberg’s triangular theory of love.

(6) Describe cognitive development in middle adulthood.

2.2.2.2. Answer the following questions in 200 200 200 200 words each (any two) : [20]

(1) Explain in detail the problems of school going children.

P.T.O.
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(2) Explain the Ginzberg’s career choice theory.

(3) What are the birth complications ?

(4) Describe the daily life of late adulthood.

3.3.3.3. Answer any one of the following questions in 400 400 400 400 words : [20]

(1) Describe in detail the physical development in infancy.

(2) Describe the family relationship in adolescence.

4.4.4.4. Write short notes on (any four) : [20]

(1) Post-natal adjustment

(2) Health and illness in early childhood

(3) Social development in early childhood

(4) Leisure time

(5) Unemployment

(6) Adjustment to retirement.

80808080

 :— :— :— :— (i)

(ii)
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1.1.1.1. [20]

(1)

(2)

(3)

(4)

(5)

(6)

2.2.2.2. [20]

(1)

(2)

(3)

(4)

3.3.3.3.  [20]

(1)

(2)
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4.4.4.4.  [20]

(1)

(2)

(3)

(4)

(5)

(6)
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[5101]-2048[5101]-2048[5101]-2048[5101]-2048

(S-2 : Positive Psychology)(S-2 : Positive Psychology)(S-2 : Positive Psychology)(S-2 : Positive Psychology)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Answer the following questions in 100 100 100 100 words each. (any four) : [20]

(1) Explain negative and positive effects of trauma.

(2) Describe successful aging.

(3) Explain benefits of marriage.

(4) Describe why are materialists unhappy.

(5) Explain the matching hypothesis concept

(6) Explain the interconnection of the ‘Good’ and ‘Bad’.

2.2.2.2. Answer the following questions in 200 200 200 200 words each (any two) : [20]

(1) Explain two traditions of happiness.

(2) Describe gender differences in emotional experiences.
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(3) Explain Fredrikson’s Broaden and Build theory of positive emotions.

(4) Describe relationship between mindfulness and well-being.

3.3.3.3. Answer any one of the following questions in 400 400 400 400 words :  [20]

(1) Define positive psychology. Describe various fields related to

positive psychology.

(2) Explain in detail CVS-classification system of human

virtues.

4.4.4.4. Write short notes on (any four) :  [20]

(1) Need fulfilment and self-determination theory.

(2) Subjective well-being

(3) Positive emotions and flow-experiences.

(4) Sources of resilience in childhood.

(5) Religion and happiness

(6) Terror management theory.

80808080

 :— :— :— :— (i)

(ii)
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1.1.1.1. [20]

(1)

(2)

(3)

(4)

(5)

(6)

2.2.2.2. [20]

(1)

(2)

(3)

(4)

3.3.3.3.  [20]

(1)

(2)
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4.4.4.4.  [20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2049

S.Y. B.A. (Regular) EXAMINATION, 2017

GANDHIAN THOUGHT

(G-2 : Gandhiji’s Social, Educational, Political and

Economical Thought)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words

each : [20]

(i) Explain, what is social reconstruction.

(ii) Explain Gandhiji’s concept of right and duties.

(iii) Explain Gandhiji’s views on woman education.

(iv) Explain Gandhiji’s views about satyagraha.

(v) Explain in short the concept of man according to Ruskin.

(vi) Explain briefly Gandhiji’s concept of spiritualization of politics.

2. Answer any two of the following questions in 200 words

each : [20]

(i) Explain briefly Gandhiji’s views on role and status of women

in Indian society.

(ii) Explain Gandhiji’s critique of communalism.

(iii) Explain the significance of Gandhiji’s idea of Ramrajya.

(iv) State and evaluate traditional idea of Ashrama in the context

of Gandhiji’s idea of Ashrama.

P.T.O.
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3. Answer any one of the following questions in 400 words : [20]

(i) Explain Gandhiji’s idea of ‘Dignity of Labour’.

(ii) Explain and discuss the importance of eighteen point constructive

programme of social change.

4. Write short notes on any four of the following : [20]

(i) Removal of untouchability

(ii) Concept of society, according to Thoreau

(iii) Village Swarajya

(iv) Tribhashasutra

(v) Gandhiji’s criticism on Totalitarianism

(vi) Ramrajya.

80

 :— (i)

(ii)

(ii)

1. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)
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2. [20]

(i)

(ii)

(iii)

(iv)

3. [20]

(i)

(ii)

4. [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2050

S.Y. B.A. (Regular) EXAMINATION, 2017

YOGVIDYA

General Paper-II

(Yogachi Sarvangin Baithak)

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]

(i) Importance of Jalneti.

(ii) The importance of ‘Pranav Omkar’ in the process of concentration.

2. Write short notes on any two of the following : [10]

(i) Kapalbhati

(ii) Halasana

(iii) Vikshepsahabhuva

(iv) Chittaprasadhana.

P.T.O.
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3. Answer any two questions from the following in 200 to 250 words

each : [15]

(i) Explain the role of Yoga science in mental health.

(ii) Discuss how to develop personality through Yoga Science.

(iii) What is the importance of Yogsadhana in learing process.

4. Attempt any one question in detail : [10]

(i) What is the importance of Swami Swatma Ram’s Hattapradipika.

(ii) What is Nastik Darshan ? Explain Charvak Darshan in detail.

40

 :— (i)

(ii)

1. [5]

(i)

(ii)

2. [10]

(i)

(ii)

(iii)

(iv)
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3. [15]

(i)

(ii)

(iii)

4. [10]

(i)

(ii)
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2051

S.Y. B.A. (Regular) EXAMINATION, 2017

HISTORY

General Paper II

(History of Civilization : Indian Culture)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) State the features of Indian Culture

(2) Dravidian Culture

(3) Ancient Indian Mathematics

(4) Sanskrit Literature

(5) Muslim Paintings

(6) Brahmo Samaj.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the Jain Philosophy and Teaching.

(2) Explain the Samrat Ashoka’s contribution to Indian Culture.

(3) Describe the Hindu and Buddist Sculpture and Caves

Architecture.

(4) Write about Bhakti movement.
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3. Answer the following questions in 400 words (any one) : [20]

(1) Explain the Buddhist Philosophy and Teaching.

(2) Write about Hindu and Muslim Architecture in India.

4. Write short notes in 50 words each (any four) : [20]

(1) Geographical Features of India

(2) Neolithic Culture

(3) Hinduism

(4) Prakrit Literature

(5) Vaishanv Cult

(6) Arya Samaj.

80

 :— (i)

(ii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2052

S.Y. B.A. (Regular) EXAMINATION, 2017

HOME ECONOMICS

G-2 : Sociology of Indian Family

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the importance of sociology.

(2) Explain the structure of Indian family.

(3) Explain the basic development of human race.

(4) Explain the evolution of marriage in India.

(5) Explain the role of government in child welfare.

(6) Explain the types of marriages in India.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the merits and demerits of Nuclear Family System.

(2) Explain the functions of family.

(3) Explain the causes and effects of family disorganisation.

(4) Explain the role of government in women welfare.
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3. Answer the following questions in 500 words (any one) : [20]

(1) Explain the merits and demerits of joint family system.

(2) Explain the causes and effects of family disintegration in rural

and urban sector in India.

4. Write short notes on (any four) : [20]

(1) Relation between sociology and Indian Family

(2) Human Race

(3) Socialisation of Child

(4) Family organisation

(5) Social legislation about marriage

(6) Voluntary Agencies.

80

 :— (i)

(ii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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Total No. of Questions—4+4+4] [Total No. of Printed Pages—9

Seat

No. [5101]-2053

S.Y. B.A. (Regular) EXAMINATION, 2017

DEFENCE AND STRATEGIC STUDIES

D.S. G-2 (A) : Military Geography

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the concept of Military Geography.

(2) Explain the characteristics of desert.

(3) State the importance of National Power.

(4) State the meaning of strategy.

(5) Explain the uses of oil.

(6) State the concept of Logistics.

2. Answer the following questions in 200 words each (any two) : [20]

(1) State the geo-strategic position and importance of Andaman

and Nicobar Island.

(2) Explain in detail the principles of Logistics.

(3) State the scope and uses of Geo-strategy.

(4) Explain the impact of Geography on Land Warfare.
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3. Answer the following questions in 400 words (any one) : [20]

(1) Describe the characteristics and logistics problems in plain

warfare.

(2) Explain in detail the geo-strategic importance of oil in west

Asia.

4. Write short notes on (any four) : [20]

(1) Concept of Geo-strategy

(2) Grand Strategy

(3) Natural Gas

(4) Importance of Military Geography

(5) Geo-Strategic importance of Jammu and Kashmir

(6) Problems of Jungle Warefare.

80

 :— (i)

(ii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[20]

(1)

(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[5101]-2053

D.S. G-2 (B) : Geopolitics

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) State the Unified field theory.

(2) Explain the importance of political geography.

(3) State the types of natural boundaries.

(4) What is Buffer State ?

(5) State the importance of peacetime geopolitics.

(6) What are the methods of calculating maritime boundaries.

2. Answer the following questions in 200 words each (any two) : [20]

(1) What is Land-locked state ? What are the problems of Land-

locked State ?

(2) Describe the geographical factors affecting war.

(3) Explain in basic elements of Nation.

(4) Explain the ‘Heartland Theory’.

3. Answer the following questions in 400 words (any one) : [20]

(1) Describe the sea power theory of Admiral A.T. Mahan.

(2) Explain the concept of Territorial water and its functions.
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4. Write short notes on (any four) : [20]

(1) State

(2) Karl Houshoffer

(3) Maritime boundaries

(4) Concept of Territorial Water

(5) Functions of boundaries

(6) Exclusive Economic Zone.

80

 :— (i)

(ii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)
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(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[5101]-2053

D.S. G-2 (C) : Industrial Security

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the meaning and concept of Industrial Security.

(2) What is Power of Arrest ?

(3) How does investigation take place ?

(4) State the role of control room.

(5) What are the duties of security department ?

(6) How do we get warning of fire break ?

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the scope of Industrial security.

(2) Describe in brief industrial espionage.

(3) State duties of security inspector.

(4) What is Fire ? Explain the classification of fire.

3. Answer the following questions in 400 words (any one) : [20]

(1) Explain the security planning and its implementation.

(2) Describe in brief various types of first aid.
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4. Write short notes on (any four) : [20]

(1) Indian Penal Code

(2) First Information Report

(3) Bomb Threat

(4) Intelligence

(5) Main Gate

(6) Fire Wing.

80

 :— (i)

(ii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)
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(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5101]-2054

S.Y. B.A. (Regular) EXAMINATION, 2017

DEFENCE AND STRATEGIC STUDIES

D.S. S-1 (A) : Indian Military System After Independence

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) What is cease fire line ?

(2) Describe the role of Indian Navy in 1971 war.

(3) What is International Border ?

(4) Explain the reforms for Indian Forces.

(5) State the Pakistan’s objective of Kargil Conflict.

(6) What is LOC ?

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the performance of Indian Armed Forces in 1947 war.

(2) State the border problem between India-China.

(3) Write the significance of Simla Agreement.

(4) Describe the development of missile and explain its delivery

system.

3. Answer any one of the following questions in 400 words each : [20]

(1) Discuss ‘Defence Policy of India since 2005’.

(2) Explain ‘India’s Nuclear Capability’.
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4. Write short notes on (any four) : [20]

(1) Rann of Kutch

(2) Indian Air Force

(3) Operation Safed Sagar

(4) McMahon Line

(5) Indian Economic Power

(6) Issue of Jammu & Kashmir.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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[5101]-2054

D.S. S-1 (B) : Maratha Military System

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) State the types of Cavalry.

(2) State the role of Rajaram in the war of Maratha independence.

(3) Describe the economic background of Maharashtra before

Shivaji.

(4) State the causes of first Anglo-Maratha War.

(5) Explain the articles of treaty of Purandar.

(6) Why did Shivaji adopt Guerrilla tactics ?

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the role of Dadoji Kondadev in making Shivaji.

(2) What are the objectives of Karnataka Campaign ?

(3) Explain the military qualities of Bajirao-I.

(4) State the causes of downfall of Maratha Power.

3. Answer the following questions in 400 words (any one) : [20]

(1) Explain the geographical, social background of Maharashtra before

Shivaji.

(2) Explain the Military leadership of Sambhaji.
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4. Write short notes on (any four) : [20]

(1) Strategic importance of Jawali

(2) Jijabai

(3) Mirza Raje Jai Singh

(4) Dhanaji

(5) Nanasaheb Peshwa

(6) Kanhoji Angre.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)
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Total No. of Questions—4+44+44+44+4] [Total No. of Printed Pages—7777

SeatSeatSeatSeat

No.No.No.No. [5101]-2055[5101]-2055[5101]-2055[5101]-2055

S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017

DEFENCE AND STRATEGIC STUDIESDEFENCE AND STRATEGIC STUDIESDEFENCE AND STRATEGIC STUDIESDEFENCE AND STRATEGIC STUDIES

D.S. S-2 (A) International Relations)D.S. S-2 (A) International Relations)D.S. S-2 (A) International Relations)D.S. S-2 (A) International Relations)

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Answer the following questions in 100 100 100 100 words each (any four) : [20]

(1) Explain the decision-making theory.

(2) Explain the concept of non-alignment.

(3) State the concept of diplomacy.

(4) Explain the objective of GATT.

(5) Explain the concept of international relation

(6) State the concept of Arms control.

2.2.2.2. Answer the following questions in 200 200 200 200 words each (any two) : [20]

(1) Explain the United Nations’ role of world peace.
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(2) Describe the game theory.

(3) Explain the importance of international relations.

(4) Explain the objectives of international law.

3.3.3.3. Answer the following questions in 400 400 400 400 words each (any one) : [20]

(1) Describe the nature and scope of cold war.

(2) Explain the impact of new cold war on international

relations.

4.4.4.4. Write short notes on (any four) :  [20]

(1) Detente

(2) NIEO

(3) New world order

(4) Brettenwoods system

(5) Idealism

(6) Disarmament

80808080

 :— :— :— :— (i)

(ii)

(iii)
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1.1.1.1. [20]

(1)

(2)

(3)

(4)

(5)

(6)

2.2.2.2. [20]

(1)

(2)

(3)

(4)

3.3.3.3.  [20]

(1)

(2)
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4.4.4.4.  [20]

(1)

(2)

(3)

(4)

(5)

(6)
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[5101]-2055[5101]-2055[5101]-2055[5101]-2055

D.S. S-2 (B) International SecurityD.S. S-2 (B) International SecurityD.S. S-2 (B) International SecurityD.S. S-2 (B) International Security

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Answer the following questions in 100 100 100 100 words each (any four) : [20]

(1) State the concept of Detente.

(2) State the concept of cold war.

(3) What are the types of balance of power ?

(4) Explain the concept of terrorism.

(5) State the problems of disarmament.

(6) Explain the concept of non-alignment.

2.2.2.2. Answer the following questions in 200 200 200 200 words each (any two) : [20]

(1) State the functions of diplomats.

(2) Explain the meaning and concept of Ethnic conflicts.

(3) Describe the causes of terrorism.

(4) Describe the problems of international security of post cold

war.
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3.3.3.3. Answer the following questions in 400 400 400 400 words (any one) :  [20]

(1) What is cyber crime ? State the types of cyber crimes.

(2) Describe the meaning and concept of national and international

security.

4.4.4.4. Write short notes on (any four) :  [20]

(1) Natural resources

(2) Meaning of arms control

(3) Effects of ethnic conflicts

(4) Diplomacy

(5) Pollution

(6) Problems of disarmament.

80808080

 :— :— :— :— (i)

(ii)

1.1.1.1. [20]

(1)

(2)

(3)
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(4)

(5)

(6)

2.2.2.2. [20]

(1)

(2)

(3)

(4)

3.3.3.3.  [20]

(1)

(2)

4.4.4.4.  [20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-2056

S.Y. B.A. (Regular) EXAMINATION, 2017

SOCIAL WORK (G-II)

(1) Introduction : Fields of Social Work

(2) Population Education

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain the social cultural factors affecting population growth. [16]

Or

Discuss the problems of rural children in India.

2. Explain medical and psychiatric social work as a field of professional

social work practice. [16]

Or

Explain the effect of large size family on family life.

3. Write a detailed note on “Tribal Welfare”. [16]

Or

Explain the causes of poor standard of living in urban areas.

P.T.O.
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4. “Unemployment is a social problem”, discuss with examples. [16]

Or

Explain the importance of correctional welfare.

5. Write short notes on any two of the following : [16]

(i) Mortality

(ii) Concept of Population Education

(iii) Importance of Family Welfare

(iv) Welfare of the Aged.

80

 :— (i)

(ii)

(iii)

1. [16]

2.

[16]
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3. [16]

4. [16]

5. [16]

(i)

(ii)

(iii)

(iv)



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2058

S.Y. B.A. (Regular) EXAMINATION, 2017

COMMERCE

General Paper II

(Business Accounting)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. Answer the following questions (any five) : [10]

(i) Meaning of Real Account.

(ii) State any two objectives of Book-Keeping.

(iii) What is Trading Account ?

(iv) What is ledger ?

(v) Define the term ‘Book-Keeping’.

(vi) What is capital ?

(vii) Who is a debtor ?

(viii) What is Time-Keeping ?

P.T.O.
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2. Journalise the following Transactions Nov., 2016 : [20]

2016

Nov. 1 Balasaheb started business with cash Rs. 1,00,000

 ” 3 Purchased Goods on Credit from ‘X’  Rs. 20,000

 ” 5 Sold goods for cash to ‘Y’ Rs. 10,000

 ” 7 Paid electrictity charges Rs. 5,000

 ” 9 Sold goods on credit to Shashi Rs. 10,000

 ” 11 Received cash from Shashi Rs. 5,000

 ” 13 Paid for salary to Ramesh Rs. 4,000

 ” 15 Deposited money into Indian bank of Rs. 10,000

 ” 17 Paid Rent Rs. 2,000

 ” 19 Withdrew cash for personal use Rs. 1,000.

Or

What is Journal ? Explain Rules of Journalising. [20]

3. (a) State in brief the methods of Time-Booking. [15]

Or

Enter the following transactions into a simple cash book of

Laxman for the month Dec, 2016 :

2016

Dec. 1 Cash in hand Rs. 20,000

 ” 4 Cash sales Rs. 5,000

 ” 6 Purchased machinery for cash Rs. 3,000

 ” 8 Paid salary Rs. 1,000 and wages Rs. 500

 ” 10 Cash Purchases Rs. 1,000
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 ” 15 Paid Income Tax Rs. 1,000

 ” 25 Withdrew cash for personal use Rs. 500

 ” 30 Deposited into bank all cash in excess of Rs. 10,000.

(b) Explain meaning, form and necessity of Balance-sheet. [15]

Or

Pripare store ledger Account on the basis of Last-in First-

out Method : [15]

2016

Oct. 1 Purchased 1000 units @ Rs. 40 per unit

 ” 3 Purchased 200 units @ Rs. 30 per unit

 ” 6 Issued 500 units

 ” 8 Issued 100 units

 ” 19 Purchased 100 units @ Rs. 50 per unit

 ” 21 Issued 200 units

 ” 24 Received 300 units @ Rs. 30 per unit

 ” 30 Issued 100 units.

4. Write short notes on (any four) : [20]

(a) Types of overheads

(b) Causes of labour turnover

(c) Profit and Loss Account

(d) Limitations of financial accounting

(e) Objectives of cost accounting

(f) Cost-sheet.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2059

S.Y. B.A. (Regular) EXAMINATION, 2017

G2 : EDUCATION

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Write the answers of the following questions in 100 words each

(any four) : [20]

(i) Write importance of inclusive education.

(ii) Explain the concept of memory.

(iii) Explain the concept of problem solving method by Dewey.

(iv) Explain educational importance of environment.

(v) Write the benefits of insight learning method.

(vi) Write educational importance of retention.

2. Write the answers of the following questions in 200 words each

(any two) : [20]

(i) Explain the statement ‘‘School as a Social System’’.

(ii) Explain the need of education for special needs students.

(iii) Explain the factors affecting on learning.

(iv) Explain Basic Education System.

3. Answer any one of the following questions in 400 words : [20]

(i) Explain the characteristics of physical, mental, social and emotional

development at adolescence stage.

(ii) What is secondary education ? What are the problems in secondary

education ? Suggest the remedial measures to overcome

them.

P.T.O.
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4. Write short notes in 50 words each (any four) : [20]

(i) Concept of forgetting

(ii) Role of school in developing International Understanding

(iii) Laws of Heredity

(iv) Concept of Inclusive Education

(v) Characteristics of social development in later childhood stage

(vi) Thorndike’s laws of learning.

80

 :— (i)

(ii)

1. 100 [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

2. 200 [20]

(i)

(ii)

(iii)

(iv)
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3. 400 [20]

(i)

(ii)

4. 50 [20]

(i)

(ii)

(iii)

(iv)

(v)

(vi)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—9

Seat

No. [5101]-2060

S.Y. B.A. (Regular) EXAMINATION, 2017

INDUSTRIAL MATHEMATICS

(FMG-2 : Operations Research and Optimization Techniques)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of logarithmic table and calculator is allowed.

(iv) Graph papers will be supplied on demand.

1. Attempt the following : [16]

(i) Write the dual of the following LPP :

Max. : Z = x1 – x2 + 4x3

Subject to : 2x1 + 3x2 – x3 � 4

4x1 – 3x2 � 5

x2 + x3 � 6

x1, x2, x3 � 0

(ii) Explain the term ‘Redundant Constraint’.

(iii) What is degeneracy in transportation problem ? How can it

be resolved ?
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(iv) What is the balanced assignment problem ? If assignment

problem is not balanced, how to balance it ?

(v) Write any two assumptions of game theory.

(vi) Define :

(a) Gradual failure

(b) Sudden failure.

(vii) Verify that the point (0, 0) is the stationary point of the

function :

2 2
1 2 1 2, 3 10.f x x x x� � �

(viii) Write the formula to calculate :

(a) Total float

(b) Free float.

2. (A) Attempt any one of the following : [6]

(i) Solve the following LPP by Simplex method :

Max. : Z = 3x1 + 2x2 + 5x3

Subject to : x1 + 2x2 + x3 � 430

3x1 + 2x3 � 460

x1 + 4x2 � 420

x1, x2, x3 � 0
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(ii) Solve the following transportation problem by VAM

method :

To

D E F G H Supply

A 5 8 6 6 3 800

From B 4 7 7 6 5 500

C 8 4 6 6 4 900

Demand 400 400 500 400 800

(B) Attempt any two of the following : [10]

(i) Solve the following LPP by graphical method :

Max. : Z = 3x1 – 2x2

Subject to : x1 + x2 � 1

2x1 + 2x2 � 1

x1, x2 � 0

(ii) A team of 5 horses and 5 riders has entered a jumping

show contest. The number of penalty points  to be expected

when each rider rides any horse is shown below :

Riders

Horses R1 R2 R3 R4 R5

H1 5 3 4 7 1

H2 2 3 7 6 5

H3 4 1 5 2 4

H4 6 8 1 2 3

H5 4 2 5 7 1

How should be the horses be allotted to the riders so

as to minimize the expected loss of the team ?
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(iii) Using Least Cost Entry method, find IBFS of the following

transportation problem :

D1 D2 D3 D4 D5 ai

O1 73 40 9 79 20 8

O2 62 93 96 8 13 7

O3 96 65 80 50 65 9

O4 57 58 29 12 87 3

O5 56 23 87 18 12 5

bj 6 8 10 4 4

3. (A) Attempt any one of the following : [8]

(i) The following is the IBFS of the transportation

problem. Is the solution optimal ? If not, find optimal

solution :

                  Warehouse

Factory P Q R S

A 7 5 3 6 0

B 5 4 3 6 2 8 0

C 5 8 5 4 2 0

D 8 4 3 3 0

(ii) Solve the following LPP by Big-M method :

Min. : Z = 12x1 + 20x2

Subject to : 6x1 + 8x2 � 100

7x1 + 12x2 � 120

x1, x2 � 0
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(B) Attempt any one of the following : [8]

(i) A project has the following data :

Activity to tm tp

(days) (days) (days)

1—2 3 6 10

1—3 6 7 12

1—4 7 9 12

2—3 0 0 0

2—5 8 12 17

3—6 10 12 15

4—7 8 13 19

5—8 12 14 15

6—7 8 9 10

6—9 13 16 19

8—9 4 7 10

7—10 10 13 17

9—11 6 8 12

10—11 10 12 14

(a) Draw the network diagram for the project.

(b) Identify the critical path.

(c) Determine the expected project time.

(ii) Machine A costs Rs. 9,000. Annual operating cost is

Rs. 200 for the first year, and then increase by Rs. 2,000
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every year, i.e. in the fourth year, operating cost becomes

Rs. 6,200. Determine the best age at which to replace

the machine. If the optimum replacement policy is

followed, what will be the average yearly cost of owning

and operating the machine ? Furthermore, if Machine

B costs Rs. 10,000 with annual operating cost is Rs. 400

for the first year, and then increased by Rs. 800 every

year. Should be replace machine A by machine B ?

(Assume that both machines have no resale value when

replaced and the future costs are not discounted.)

4. (A) Attempt any one of the following : [6]

(i) Solve the following game graphically :

Player B

B1 B2

A1 –7 6

Player A
A2 7 –4

A3 –4 –2

A4 8 –6

(ii) Find the minimum or maximum of the function :

2 2 2
1 1 2 2 3 3Z = 2 24 2 8 2 12 100x x x x x x� � � � � �

Subject to : x1 + x2 + x3 = 11

and  x1, x2, x3 � 0
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(B) Attempt any two of the following : [10]

(i) Draw the project network for the following project :

Activity Prodecessor(s)

A —

B —

C A

D A

E B, C

F B, C

G D

H E, D

(ii) Find the sequence that minimizes the total elapsed time

required to complete the following jobs. Also find idle

time of each machine :

No. of Jobs Machine A Machine B

(time in hours) (time in hours)

1 4 6

2 8 3

3 3 7

4 6 2

5 7 8

6 5 4
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(iii) Convert the following game in LPP for Player A :

Player B

B1 B2 B3

A1 10 5 7

Player A A2 6 7 5

A3 7 6 8

5. (A) Attempt any one of the following : [6]

(i) We have five jobs each of which must go through the

machines A, B and C in the order ABC :

Job No. Machine A Machine B Machine C

(time in hours) (time in hours) (time in hours)

1 5 2 3

2 7 1 7

3 6 4 5

4 9 5 6

5 5 3 7

Determine a sequence for the jobs that will minimize

the total elapsed time and idle time for each machine.

(ii) Determine the critical path and total project time for

the following network. Also determine the total float and

free float of non-critical activities :
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(B) Attempt any two of the following : [10]

(i) The following table gives the running costs per year and

resale price of a certain equipment whose purchase price

is Rs. 50,000 :

Year Running Cost Resale Value

(in Rs.) (in Rs.)

1 7,500 45,000

2 8,000 40,500

3 8,500 37,500

4 9,000 36,000

5 10,000 34,500

6 12,250 33,250

At what year is the replacement due ?

(ii) Find the maximum or minimum of the function :

2 2 2
1 2 3 1 2 3X  = 4 8 12 56.f x x x x x x� � � � � �

(iii) Solve the following game using dominance principle :

Player B

B1 B2 B3 B4 B5

A1 4 4 2 –4 –6

Player A A2 8 6 8 –4 0

A3 10 2 4 10 12
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-2062

S.Y. B.A. (Regular) EXAMINATION, 2017

ENGLISH (General)

Paper II

(Study of English Language and Literature)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :—

(i) Rainbow : An Anthology of short stories

Ed. Board of Editors, Orient Blackswan

(ii) Linguistics : An Introduction

Ed. Board of Editors, Orient Blackswan

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Attempt any one of the following in about 100 words

each : [8]

(i) Comment on the significance of setting in short story.

(ii) Define the term character. Explain different types of

characters in short story.
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(B) Attempt any one of the following in about 100 words

each : [8]

(i) Elaborate the different attitudes of the lawyer and the

banker towards death punishment in the story ‘The Bet’.

(ii) Comment on the mother’s conflict between her love for

son and love for fatherland in ‘Mother of a Traitor’.

2. Write short notes on any four of the following in about 100 words

each : [16]

(i) Plosives in English

(ii) Back Vowels in English

(iii) Stress Shift

(iv) Uses of Falling Tone

(v) Weak and Strong Forms

(vi) Phonemes and Allophones.

3. Attempt any two of the following in about 100 words each : [16]

(i) Attempt a character sketch of Kabuliwallah.

(ii) Explain the suspense and horror depicted in the story ‘The

Signal Man’.

(iii) Compare and contrast the character of Jim and Bob in the

story ‘After Twenty Years’.

(iv) Write a detailed note on the themes presented in the story

‘Lawley Road’.



[5101]-2062 3 P.T.O.

4. Write notes on any two of the following in about 100 words

each : [16]

(i) Morphemes and Allomorphs

(ii) Types of free morphemes

(iii) Derivational and Inflectional morphemes

(iv) Prefixation and suffixation.

5. Write notes on any two of the following in about 100 words

each : [16]

(i) National Varieties of English

(ii) Difference in Vocabulary between British English and American

English

(iii) Multilingualism

(iv) Code mixing and Code switching.



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [5101]-2063

S.Y. B.A. (Regular) EXAMINATION, 2017

SPECIAL ENGLISH

S-1 : Appreciating Drama

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :— (i) ‘The Merchant of Venice’ by William Shakespeare.

(ii) ‘A Doll’s House’ by Henrik Ibsen.

(iii) ‘The Old Stone Mansion’ by Mahesh Elkunchwar.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions : [16]

(1) Define Drama and state its types.

(2) Write a note on ‘Character’ and its types.

(3) What are the types of comedy ? Explain with suitable

examples.

(4) Explain the importance of the three unities in drama.

(5) Write the features of tragedy.

(6) What is the difference between a story and a plot ?

2. Answer any one of the following questions : [16]

(1) Discuss the use of symbolism, imagery and allegory in the

drama ‘The Merchant of Venice’.

(2) Discuss the relationship between Jessica and Shylock.
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3. Answer any two of the following questions : [16]

(1) Is ‘A Doll’s House’ a feminist play ? Justify your answer.

(2) Compare and contrast the relationship between Nora and Torvald

and Mrs. Linde and Krogstad.

(3) Explore the mataphors and symbols used by Ibsen in ‘A Doll’s

House’. How do they work with the theme of the play ?

4. Answer any two of the following questions : [16]

(1) Discuss the theme of the play ‘The Old Stone Mansion’.

(2) ‘The Old Stone Mansion’ locates the battle between the age

long cultural and social values and the harsh realities of global

life. Discuss.

(3) Attempt a character sketch of Vahini in the play ‘The Old

Stone Mansion’.

5. Answer any eight of the following questions : [16]

(1) State the significance of the final act of the play ‘The Merchant

of Venice’.

(2) Explain Portia’s character with its type.

(3) Mention the secondary characters in the play ‘The Merchant

of Venice’.

(4) Enlist the important elements of drama found in ‘The Merchant

of Venice’.

(5) ‘The Merchant of Venice’ is a comedy. Comment.
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(6) What elements of the social play do you find in ‘A Doll’s

House’ ?

(7) Explain the importance of the setting of Christmas celebration

in the play ‘A Doll’s House’.

(8) The stone mansion is a symbol of the fall of social values.

Do you agree with the view ?

(9) Explain the type of character to which Prabha in ‘The Old

Stone Mansion’ belongs.

(10) What role does the tractor and the Palanquin Play in ‘The

Old Stone Mansion’ ?



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-2064

S.Y. B.A. (Regular) EXAMINATION, 2017

ENGLISH

Paper-II (Special)

(Appreciating Poetry)

(Text-Auroral Musings : An Anthology of English Poetry)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(a) Comment on the relationship between the lover and the beloved

in “The Definition of Love”.

(b) Elaborate on the Platonic idealism that pervades “Men Call

You Fair”.

(c) Explain how “Sonnet 130” deviates from the petrarchan

sonnet.

(d) Comment on Donne’s treatment of love in “Broken Heart”.

(e) Explain in detail the classical references in “The Invocation”.

(f) Describe the theme of “The Ballad of Sir Patrick Spens”.

P.T.O.
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2. Answer any four of the following : [16]

(a) Analyse the feelings of doubt and affirmation in “On His Blindness”.

(b) Write a note on the symbols in “The Coronet”.

(c) Comment on the imagery of Violence in “Batter My Heart”.

(d) Consider the poem “Alexander’s Feast : Or the Power of Music;

an Ode in Honor of St. Cecilia’s Day” as a Pindaric Ode.

(e) Analyse the character of Belinda as reflected in the poem “Rape

of the Lock, Toilet Scene.”

(f) Consider the poem “Ode on the Death of a Favourite Cat,

Drowned in a Tub of Gold Fishes” as a mock epic and mock-

elegy.

3. Answer any two of the following : [16]

(a) Analyse “The Tables Turned” as an example of Romantic Poetry.

(b) Discuss “Ode to Autumn” as a nature poem.

(c) Is the poem “The Blessed Damozel” spiritual or passionate ?

Give reasons for your answer.

4. Answer any two of the following : [16]

(a) How does Whitman prove that the soul is like the spider ?

(b) Comment on the theme of nostalgia in the poem “Sailing to

Byzantium”.

(c) Discuss the theme of “Kubla Khan : A Vision in Fragments”.
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5. Explain any four of the following with reference to the

context : [16]

(a) Death closes all but something ere the end

Some work of noble note may yet be done

Not unbecoming men that strove with Gods

The lights begin the twinkle from the rocks.

(b) Listen !  you hear the grating roar

Of pebbles which the waves draw back and fling

At their return, up the high strand

Begin, cease and then again begin

With tremulous cadence slow and bring

The eternal note of sadness in

(c) She found me roots of relish sweet

And honey wild and mannadew

And sure in language strange, she said

“I love thee true”.

(d) No motion has she now, no force;

She neither hears nor sees

Rolled round in earth’s diurnal course,

With rocks and stones and trees.
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(e) Why do men then now not reck his rod

Generations have trod, have trod, have trod;

And all is smeared with trade bleared,

Smeared with toil,

And wears man’s smudge and shares man’s

Smell : the soil

Is bare now, nor can foot feel, being shod.

(f) Far or forgot to me is near;

Shadow and sunlight are the same;

The vanished gods to me appear;

And one to me are shame and fame.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2065

S.Y. B.A. (Regular) EXAMINATION, 2017

PHYSICAL EDUCATION

(Gen-II)

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following in 50 words each (any two) : [5]

(1) List out the jumping events in Athletics.

(2) Importance of Sit-ups exercise in Fitness.

(3) Define the concept of W.H.R.

2. Answer the following in 100 words each (any two) : [10]

(1) Importance of Weight Training in sports.

(2) List out the ‘five fouls’ in Kho-Kho.

(3) Importance of organisation of tournaments and how will you

organise good tournament ? Write in brief.

3. Answer the following in 250 words each (any two) : [15]

(1) Explain in detail about ‘Fart Lake’ training method.

(2) Describe the aims of modern Olympics.

(3) Importance of ‘Yogasana’ in Physical Education.
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4. Answer the following in 500 words (any one) : [10]

(1) Draw a neat diagram of Kho-Kho ground with its measurements

and explain the basic rules and skills of the game.

(2) Draw a neat diagram of Handball ground with its measurement

and explain the basic rules of the game.

40

 :— (i)

(ii)

(iii)

[5]

(1)

(2)

(3) W.H.R. 

[10]

(1)

(2)

(3)
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[15]

(1)

(2)

(3)

[10]

(1)

(2)



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-2066

S.Y. B.A. (Regular) EXAMINATION, 2017

MATHEMATICS

(MG-2 : Discrete Mathematics and Linear Algebra)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [16]

(a) Construct truth table for p q� .

(b) Let P(x) denote the statement " 4"x � . What is the trut value

of P(4) ?

(c) Translate the statement " ( )"x y x y� � �  into English, where

the domain for each variable is the set of real numbers.

(d) How many strings are there of six letters ?

(e) Define subspace of a vector space V.

(f) Verify whether the map 
2 2T : ���R R  defined by :

T( , ) ( , )x y x y x y� 	 


a linear transformation ?

(g) State Cauchy Schwartz inequality.

(h) Show that 1 (1, 1)u �  and 2 (1, 1)u � 
  are orthogonal to each

other w.r.t. Euclidean inner product on R2.
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2. (A) Attempt any one of the following : [6]

(i) Show that ( )p q r� �  and ( ) ( )p q p r� � �  are logically

equivalent.

(ii) Show that the statement “Every positive integer is the

sum of the equares of two integers” is false.

(B) Attempt any two of the following : [10]

(i) Prove that if n2 is an even integer, then n is an even

integer.

(ii) A group contains n men and n women. How many ways

are there to arrange these people in a row if the men

and women alternate ?

(iii) How many solutions are there to the equation :

1 2 3 4 5 21x x x x x	 	 	 	 � ,

where xi, i = 1, 2, 3, 4, 5 is a non-negative integer

such that 1 1x 
 .

3. (A) Attempt any one of the following : [8]

(i) Prove that the number of r-combinations of a set with

n elements, where n is a non-negative integer and r

is an integer with 0 r n� �  equals :

!
C( , )

!( )!

n
n r

r n r
�



.

(ii) How many positive integers not exceeding 1000 are divisible

by 7 or 11 ?
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(B) Attempt any one of the following : [8]

(i) Let V be a vector space with dim V n� . Prove that any

set with n linearly independent vectors in V is a basis

for V.

(ii) If 
3 3T : ���R R  is a linear transformation given by :

T( , , ) ( , 2 , 2 2 2 )x y z x y z x y z x y z� 	 
 
 	 
 
 	

Find basis and dimension of ker (T) .

4. (A) Attempt any one of the following : [6]

(i) Check whether the set :

{(3,1, 4), (2,5,6), (1,4,8)}


is linearly independent in R3 ?

(ii) In any inner product space show that :

2 2 2 22 2u v u v u v	 	 
 � 	 .

(B) Attempt any two of the following : [10]

(i) Let 
3 3T : ���R R  be given by :

T( , , ) ( 2 , , 2 3 )x y z x y z x z x y z� 	 	 	 	 	

find image of T.

(ii) Let

3W {( , , ) / }x y z x y� � �R

Find dim W.

(iii) Let V = R3 be an inner product space with Euclidean

inner product and :

( 1, 1, 2)u � 
 , 3(2, 1, 2) Vv � 
 � � R

Find 2 3 , 3u v u v� 
 	 � .
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5. (A) Attempt any one of the following : [6]

(i) Let P2 be a vector space with inner product :

1

21
, ( ) ( ) , ,p q p x q x dx p q



� � � � �� P

Find p  for p = 1 – x.

(ii) Let

(1, 3)u � 
 , (2,2)v �

be vectors in R2. Use Gram-Schmidt process and transform

{ , }u v  to orthonormal basis.

(B) Attempt any two of the following : [10]

(i) Show that intersection of two subspaces W1 and W2 of

a vector space V is a subspace of V.

(ii) Show that if 1 2T : V V���  be a linear transformation,

then ker(T) is a subspace of V1, where V1 and V2 are

vector spaces.

(iii) Show that the set :

1 1 1 1 1 1 1 2
, , , , , 0 , , ,

5 5 5 2 2 3 3 3

� �
� � � � � �

� �� � � � � �

� � � � � �� �

is orthogonal with respect to the Euclidean inner product.
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Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [5101]-2067

S.Y. B.A. (Regular) EXAMINATION, 2017

MATHEMATICS

MS-1 : Problem Course Based on Papers

MG-2 and AMG-2

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [16]

(1) Construct truth table of p � q.

(2) Write negation of � x(x2 > 0).

(3) Show that the following set of vectors are linearly independent

in R3 :

S = {(–1, 1, 0), (0, 1, 1,), (0, 0, 1)}.

(4) Determine ker T, when

T : R2 � R

is given by :

T(x, y) = x + y.
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(5) Let

z = x2 – y2,

then show that (0, 0) is saddle point.

(6) Plot the level curves

f(x, y) = 0,

f(x, y) = 2,

f(x, y) = 4

in domain of f in the plane where

f(x, y) = x2 + y.

(7) Evaluate :

2 3

1
lim
t

ti t j t k
�

� � .

(8) If

2f xyi yzj xz k� � � ,

then find div f .

2. (A) Attempt any one of the following : [6]

(1) Give proof of if n is even, then so in n2.

(2) Show that the number of one to one functions from a

set with r elements to a set with n elements is :

n(n – 1) ..... (n – r + 1)



[5101]-2067 3 P.T.O.

(B) Attempt any two of the following : [10]

(1) Evaluate :

3
2 2 2

R

xy x y dxdy���

over the first quadrant of the circle

x2 + y2 = 1

(2) Find the minimum distance from the origin to a point

on the plane

x + 3y – z = 6

by using Lagrange’s Multiplier.

(3) Show that f is differentiable at (0, 0) where

   f(x, y) = 

4 4

2 2

x y

x y

�

�
     if (x, y) � (0, 0)

        = 0          if (x, y) = (0, 0)

3. (A) Attempt any one of the following : [8]

(1) (a) How many arrangements of MISSISSIPPI are

possible ?

(b) In how many ways 7 people can be seated around

a round table ?
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(2) (a) If

u = f(r) and r = 2 2x y� ,

then show that :

uxx + uyy = f��(r) + 
1

r
f�(r).

(b) Let

f(x, y) = |x| + |y|,

then show that f is continuous at (0, 0) but neither

of

fx(0, 0), fy(0, 0)

exists.

(B) Attempt any one of the following : [8]

(1) Let R3 be the Euclidean inner product. Use Gram-Schmidt

process to transform the basis

{ 1u  = (1, 1, 1), 2u  = (–1, 1, 0), 3u  = (1, 2, 1)}

into an orthonormal basis.

(2) Let

F = 2x y i x z j y z k� � � � � .

Verify Stokes’ theorem for the function F  over the plane

3z + 2y + z = 6

in the first octant.
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4. (A) Attempt any one of the following : [6]

(1) Let

T : R3 � R3

be a linear transformation given by

T(x, y, z) = (–x – y + z, x – 4y + z, 2x – 5y),

determine the matrix of T with respect to the basis

B = {(1, 0, 2), (2, 1, 0), (1, 0, 1)}.

(2) Let V = R+ be the set of all positive reals. Define addition

of any two members x  and y  to be the usual multiplication

of numbers, that is

.x y x y� � .

Define scalar multiplication by a scalar k to any x 	

R+ to be xk, that is k x  = xk. Then show that V is

a vector space.

(B) Attempt any two of the following : [10]

(1) Show that the following identities hold for vectors in

any inner product space :

(a)

2 2 2 2

2 2u v u v u v
� � � � � �

� � � � �

(b)

2 2

4 ,u v u v u v
� � � � � �

� � � � .
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(2) Determine whether the vectors

1V  = (2, 1, 0, 3), 2V  = (3, –1, 5, 2) and

3V  = (–1, 0, 2, 1)

are linearly independent.

(3) Let

W = (x, y, z)|x + y + z = 0}

be a subset of R3, then show that W is subspace of

R3 and find basis and dimension of W.

5. (A) Attempt any one of the following : [6]

(1) Find T, N, B , k and 
 for the curve

3 2 31 1

3 3
f t t t i t j t t k

� � � �� � � � �
 � 
 �� � � �

(2) Suppose ,f g  are vector functions having first order partial

derivatives in a region D. Then in D, prove that :

curl . . div . divf g g f g f f g f g� � �� � � � � .

(B) Attempt any two of the following : [10]

(1) If

sin cosxr e a y b y��� � � �

where a , b  are constant vectors and � is a constant

scalar, then show that :

2 2

2 2
0

r r

x y

� �
� �

� �
.
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(2) Using Green’s theorem, evaluate

C
� (e–x sin y dx + e–x cos y dy)

where C is the rectangle formed by x = 0, x = �,

y = 0, y = 
2

�
.

(3) Using Stokes’ theorem, evaluate

C

� ydx + zdy + xdz,

where C is the curve of intersection of the sphere

x2 + y2 + z2 = a2

and the plane

x + y + z = 0.



Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [5101]-2068

S.Y. B.A. (Regular) EXAMINATION, 2017

STATISTICS (General-II)

(Statistical Prerequisites Applications of Statistics and

Theory of Probability)

(2013 Pattern)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical table is allowed.

(iv) Symbols and abbreviation have their usual meanings.

1. Attempt each of the following :

(a) State whether the following statements are true or

false : [1 each]

(i) nCr = nPn–r

(ii) The observations in time series are depednent of each

other.

(iii) STDR is used for comparison of mortality of two

populations.

(iv) P(�) = 1 is one of the axioms of probability

theory.

P.T.O.



[5101]-2068 2

(b) Choose the correct alternative : [1 each]

(i) If X � B(n, p) then :

(A) E(X) > V(X)

(B) E(X) = V(X)

(C) E(X) < V(X)

(D) E(X) < V(X)

(ii) In X is a discrete random variable then its cumulative

distribution function (c.d.f.) is :

(A) Non-decreasing

(B) Non-increasing

(C) Increasing

(D) Decreasing

(iii) If A and B are mutually exclusive events defined on

�, then :

(A) P(A � B) = 0

(B) P(A � B) = P(A) – P(B)

(C) P(A � B) = P(A) ÷ P(B)

(D) P(A � B) = P(A) × P(B)
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(iv) Demography is mainly concerned with :

(A) births

(B) deaths

(C) marriage

(D) all of the above

(c) Answer in brief : 2×4=8

(i) State additive theorem of probability.

(ii) If R1.23 = 1, then show that R2.13 = 1.

(iii) Define :

(1) sure event

(2) null event.

(iv) State additive and multiplicative model of time

series.

2. Attempt any four of the following : [4×4=16]

(a) (i) Define independence of two events.

(ii) Suppose A and B are two independent events defined

on � then prove that :

(1) A� and B� are independent and

(2) A and B� are independent.

(b) Define discrete uniform distribution. Give three real life situations

where this distribution is applied.
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(c) Define cumulative distribution function (c.d.f.) of a discrete random

variable. Also state its important properties.

(d) The following data give the yield of wheat per acre (in quintals)

for year 1964-1973 :

Year Yield

1964 10.1

1965 11.5

1966 9.3

1967 9

1968 10.5

1969 8.3

1970 11.1

1971 11.5

1972 10.3

1973 12.4

Calculate 5 yearly moving averages.

(e) A committee of four is to be formed from 3 engineers, 4

economists, 2 statisticians and 1 chartered accountant :

(i) What is the probability that each of the four categories

of profession is included in the committee ?

(ii) What is the probability that the committee consists of

the chartered accountant and at least one engineer ?
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(f) Define Multiple correlation coefficient. Also show that if

R1.23  = 1, then R2.31 = R3.21 = 1.

3. Answer any four of the following : [4×4=16]

(a) Explain briefly fitting of AR(1) model in time series.

(b) State and prove additive property of Poisson distribution.

(c) Let (X, Y) be discrete bivariate random variable with joint

p.m.f. :

P(x, y) = C(2x + 5y); x = 0, 1; y = 0, 1

     = 0; otherwise

Find :

(ii) C

(ii) Marginal p.m.f.’s of X and Y

(iii) Conditional probability distribution of Y given X = 1.

(d) On an average 4 cars arrive at a tollbooth every minute. Assuming

this to be Poisson distribution, what is the probability that

less than 3 cars arrive in one minute ?

(e) The probability distribution of a discrete random variable X

is as follows :

X P(x)

0 0.35

1 0.15

2 0.3

3 0.2
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Find :

(i) P(X < 1)

(ii) P(1 < X < 3)

(iii) C.d.f. of X

(iv) Median of X.

(f) A number is selected from the set of numbers {1, 2, 3, 4,

5, 6, 7, 8, 9, 10}. If A = An odd numebr is selected, B =

Number greater than 5 is selected, obtain (A � B)�.

4. Answer any two of the following : [8×2=16]

(a) Explain various components of time series with an illustration.

(b) Define Poisson distribution. Show that mean and variance of

Poisson distribution are equal.

(c) Calculate G.R.R. and N.R.R. for the following data and

interpret :

Age Group Female No. of Female

Population Births

15—19 15000 150

20—24 15500 220

25—29 16000 325

30—34 14500 200

35—39 16000 140

40—44 13000 90
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(d) (i) If X is random variable having Binomial distribution with

E(X) = 7 and var(X) = 2.8, then obtain P(X < 1).

(ii) A problem in statistics is given to 3 students A, B, C;

whose chance of solving them is 1/2, 1/3, 1/4 respectively.

If they solve independently, find probability that problem

will be solved.

5. Attempt any one of the following : [16]

(a) Given the following data on three vriables X1, X2 and

X3 :

Mean (X1) = 68 S.D. (X1) = 10 r12 = 0.6

Mean (X2) = 70 S.D. (X2) = 5 r13 = 0.7

Mean (X3) = 74 S.D. (X3) = 9 r23 = 0.6

(i) Obtain equation of the plane of regression for X1 on X2

and X3.

(ii) Obtain the estimate of X1 when X2 = 65 and X3 = 70.

(iii) Find the partial correlation coefficient r23.1.

(iv) Find the multiple correlation coefficient R1.23.

(b) (i) Define the bivariate probability distribution. 2+14
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(ii) The joint probability distribution of (X, Y) is as given

below :

X/Y 1 2 3

1 2 2 2

2 3

3 3

k k k

k k k

k k k

Find :

(1) The value of k

(2) Marginal probability distribution of X and Y

(3) P(X + Y < 3)

(4) Are X and Y independent.
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Seat

No. [5101]-2069

S.Y. B.A. (Regular) EXAMINATION, 2017

LOGIC AND METHODOLOGY OF SCIENCE

(G-II : Formal and Relational Logic)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four in 100 words each : [20]

(1) What is the need for predicate logic ?

(2) Distinguish between propositional function and aproposition.

(3) State formation rules of PM system.

(4) Explain the nature of a relational proposition.

(5) State and explain the revised rule of UG.

(6) Write the rules of identity.

2. Answer any two of the following : [20]

(1) Prove the theorems of PM system (any two) :

Axioms :

(i) (p � p) �� p

(ii) q � (p �� p)

(iii) (p � q) �� (q � p)

(iv) [p � (q �� r)] �� [q � (p �� r)]

(v) (q � r) �� [(p �� q) �� (p �� r)]

P.T.O.
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Theorems :

(a) |— (p � ~ q) �� (q � ~p)

(b) |— (p � ~ p) �� ~ p

(c) |— p � (p �� p)

(d) (p � q) �� [(q � r) � (p �� r)].

(2) Prove the invalidity of the following invalid arguments (any

two) :

(i) (X) (Gx �� Hx)

(X) (Gx �� Ix)

� (X) (Ix �� Hx)

(ii) (X) (Cx �� Ax)

(�x) (Cx . Wx)

� (�x) (Wx �� Ax)

(iii) (�x) (Ax . Bx)

(�x) (Cx . Bx)

� (X) (Cx �� ~ Ax).

(iv) Some politicians are leaders. Some leaders are not orators.

Therefore some orators are not politicians. (Px, Lx, Ox)

(3) Prove the validity of the following (any two) :

(a) No humans are perfect. All Greeks are humans. Therefore

no Greeks are perfect. (Hx, Gx, Px)

(b) All dancers are singers. Some actors are not singers. Therefore

some actors are not dancers. (Dx, Sx, Ax)



[5101]-2069 3 P.T.O.

(c) No gamblers are happy. Some idealists are happy. Therefore

some idealists are ot gamblers. (Gx, Hx, Ix)

(d) All dancers are graceful. Shraddha is a dancer. Shraddha

is a singer. Therefore some singers are graceful. (Dx, Gx,

Sx, S)

(4) Symbolize the following using the symbols given in

brackets (any five) :

(i) None but the brave deserve the fair. (Dx : x deserve

the fair, Bx : X is a brave)

(ii) Bananas and grapes are fresh and sweet. (Bx : x is a

banana, Gx – x is a grape, Fx – x is fresh, Sx – x is

sweet).

(iii) Arun is taller than Ram, but Purva is taller than Ram.

(Txy – x is taller than y, a-Arun, r-Ram, p-Purva)

(iv) Something attracts everything. (Axy – x attracts y)

(v) No scooter that is over ten years old will be repaired.

(Sx – x is a scooter, Ox – x is ten years old, Rx – x

will be repaired)

(vi) Any mobile is worth buying if it is low cast and have

a camera (Mx – x is a mobile, Wx – x is worth buying,

Lx – x is low cost, Cx – Cx is camera)
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3. Answer any one : [20]

(1) What is a diadic relation ? Explain all the characteristics of

diadic relation stating the symbolic form and an appropriate

example of each.

(2) Prove the validity of the following (any four) :

(i) Pune is a bigger city than Borivali. Chennai is bigger city

than Pune. Therefore Chennai, is a bigger city than Borivali.

(p-Pune, b-Borivali, c-Chennai, Bxy – x is bigger city

than Y).

(ii) (�x) Lx � (Y) My / � (x) [Lx � (y) My]

(iii) (x) (Fx �� Gx)

(�y) Fy / �� (�z) Gz

(iv) (X) [Vx �� (�y) Oyx]

(X) [Oxa �� Rxa]

(X) ~ Rxa / �� ~ Va

(v) Wgf

g = m

Wm / �� (�x) (Wx . Wxf)

(vi) (X) [(Mx . Wx) �� Bx]

Mk . Wk

~ Bt / �� ~ (t = k)

(vii) (X) (y) Axy / �� (Y)(X) Axy.
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4. Write notes on (any four) : [20]

(1) Individual constant and predicate variable.

(2) Methods of obtaining propositions from a propositional

function.

(3) Relation of contrary and sub-contrary in modern square of

opposition (predicate logic)

(4) Nature of multiply general propositions.

(5) The rule of existential instantiation (E.I.) (Preliminary version).

(6) Quantification Negation (Q.N.).

80

 :— (i)

(ii)

(iii)

1. 100 [20]

(1)

(2)

(3)

(4)

(5)

(6)
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2. [20]

(1)

(i) (p � p) �� p

(ii) q � (p �� p)

(iii) (p � q) �� (q � p)

(iv) [p � (q �� r)] �� [q � (p �� r)]

(v) (q � r) �� [(p �� q) �� (p �� r)]

(a) |— (p � ~ q) �� (q � ~p)

(b) |— (p � ~ p) �� ~ p

(c) |— (p � (p �� p)

(d) (p � q) �� [(q � r) � (p �� r)].

(2)

(i) (X) (Gx �� Hx)

(X) (Gx �� Ix)

� (X) (Ix �� Hx)

(ii) (X) (Cx �� Ax)

(�x) (Cx . Wx)

� (�x) (Wx �� Ax)
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(iii) (�x) (Ax . Bx)

(�x) (Cx . Bx)

� (X) (Cx �� ~ Ax).

(iv)

(Px, Lx, Ox)

(3)

(a)

(Hx, Gx, Px)

(b)

(Dx, Sx, Ax)

(c)

(Gx, Hx, Ix)

(d)

 (Dx, Gx, Sx, S)

(4)

(i)

(ii) (Bx – x 

Gx – x Fx – x Sx – x 

(iii) (Txy – x

y a- , r- , p- )

(iv) (Axy – x y )
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(v) (Sx

– x Ox – x Rx – x

(vi)

(Mx – x

Wx – x Lx – x

Cx – Cx 

3.  [20]

(1)

(Form)

(2)

(i)

(Bxy – x  y

p- b- c-

(ii) (�x) Lx � (Y) My / � (x) [Lx � (y) My]

(iii) (x) (Fx �� Gx)

(�y) Fy / �� (�z) Gz

(iv) (X) [Vx �� (�y) Oyx]

(X) [Oxa �� Rxa]

(X) ~ Rxa / �� ~ Va

(v) Wgf

g = m

Wm / �� (�x) (wx . Wxf)
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(vi) (X) [(Mx . Wx) �� Bx]

Mk . Wk

~ Bt / �� ~ (t = k)

(vii) (X) (y) Axy / �� (Y)(X) Axy.

4. [20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

No. [5101]-2070

S.Y. B.A. (Regular) EXAMINATION, 2017

SOCIOLOGY

Group A (G-2) : Population and Society

Or

Group B (G-2) : Social Welfare and Social

Legislation in India

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt Group ‘A’ or Group ‘B’.

(ii) All questions are compulsory.

(iii) Figures to the right indicate full marks.

Group A (G-2) : Population and Society

1. Answer the following questions in 100 words each (any four) : [20]

(1) Write the meaning of population studies.

(2) Elaborate the population growth in India.

(3) Write the importance of Registration method.

(4) Write the process of Micro to Macro demography.

(5) Write the meaning and definition of population education.

(6) Explain the importance of population studies.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the characteristics of population in India.

(2) Discuss the Demographic transition theory.

(3) Give brief review of India’s population policy after independence.

(4) Explain the Malthusian theory of population growth.

3. Answer the following questions in 400 words (any one) : [20]

(1) Discuss the impact of population growth on economic development

in India.

(2) Define migration. Explain the causes of migration.

4. Write short notes on (any four) : [20]

(1) Factors of infant mortality.

(2) Pre-Independence population policy.

(3) International sources of population data.

(4) Concept of sex education.

(5) Types of sterility.

(6) Importance of census.

OR

Group B (G-2) : Social Welfare and Social

Legislation in India

1. Answer the following questions in 100 words each (any four) : [20]

(1) Empowerment.

(2) Right to Education Act, 2011.
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(3) Fundamental Duties.

(4) Child Abuse.

(5) P.C.P.N.D.T. Act, 1994.

(6) Role of NGO.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Discuss the meaning and characteristics of Welfare State.

(2) Write the policy of protective discrimination against SCs in

India.

(3) Explain the issues of Adivasis in India.

(4) Discuss the Rehabilation Council of India Act, 1992 for person

with Disabilities.

3. Answer the following questions in 400 words (any one) : [20]

(1) Explain the History of Social Welfare in India.

(2) Discuss the various issues and problems of women in India.

4. Write short notes on (any four) : [20]

(1) Child Labour

(2) The Scheduled Castes and Scheduled Tribes Act, 1989

(3) PESA Act, 1996

(4) Meaning of Civil Society

(5) Bonded Labour

(6) Fundamental Rights.
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80

 :— (i)

(ii)

(iii)

(iv)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2071

S.Y. B.A. (Regular) EXAMINATION, 2017

SOCIOLOGY

(S-1 : Foundations of Sociological Thought)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) What is Sociological Thought ?

(2) Define Ideal types (Weber).

(3) What is Indology (Ghurye) ?

(4) Write the concept of Sanskritization (Srinivas).

(5) Name any two forces behind the emergence of Sociology.

(6) State the social impact of French Revolution.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Elaborate the theory of origin of caste by Dr. Ambedkar.

(2) Explain the theory of social facts by Emile Durkheim.

(3) Explain the development of Sociology in India.

(4) Discuss the Marx’s theory of class struggle.

3. Answer any one of the following questions in 400 words : [20]

(1) Explain the theory of Social action by Weber.

(2) Discuss the social background of Indian Nationalism.
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4. Write short notes on (any four) : [20]

(1) Social impact of Industrial Revolution

(2) Positivism (Comte)

(3) Dominant Caste (M.N. Srinivas)

(4) Alienation (Marx)

(5) Characteristics of Caste (Ghurye)

(6) The Colonial Background of India.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)

(2)

(3)

(4)
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[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—4444] [Total No. of Printed Pages—4444

SeatSeatSeatSeat

No.No.No.No. [5101]-2072[5101]-2072[5101]-2072[5101]-2072

S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017

SOCIOLOGYSOCIOLOGYSOCIOLOGYSOCIOLOGY

Special Paper-2Special Paper-2Special Paper-2Special Paper-2

(Indian Society : Issues and Problems)(Indian Society : Issues and Problems)(Indian Society : Issues and Problems)(Indian Society : Issues and Problems)

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Answer the following questions in 100 100 100 100 words each (any four) : [20]

(1) What is rural poverty ?

(2) Write the meaning of human trafficking.

(3) Define religious minorities.

(4) What is white collar crime ?

(5) State the meaning of female foeticide.

(6) What is social welfare policy ?

2.2.2.2. Answer the following questions in 200 200 200 200 words each (any two) : [20]

(1) Describe the various approaches to resolve social problems.

P.T.O.
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(2) Explain the nature and causes of juvenile delinquency.

(3) Discuss the aspect of gender inequality.

(4) Elaborate the role of the state to counter social

problems.

3.3.3.3. Answer any one of the following in 400 400 400 400 words : [20]

(1) Explain the various problems and issues of youths in

India.

(2) Discuss the nature and causes of religious fundamentalism.

4.4.4.4. Write short notes on (any four) : [20]

(1) Civil Society Organization

(2) Psychological problems of aged

(3) Environmental degradation

(4) Domestic violence against women

(5) Regional imbalance

(6) Criminalization of politics.

80808080

 :— :— :— :— (i)

(ii)
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1.1.1.1. [20]

(1)

(2)

(3)

(4)

(5)

(6)

2.2.2.2. [20]

(1)

(2)

(3)

(4)

3.3.3.3.  [20]

(1)

(2)
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4.4.4.4.  [20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2073

S.Y. B.A. (Regular) EXAMINATION, 2017

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper II

[Outline of Political, Social and Economic Institutions of

Ancient India (600 B.C. to 1200 A.D.)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following quetions in 100 words each (any four) : [20]

(1) State the salient features of Monarchical state.

(2) Explain the theory of kingship of Guptas.

(3) Write in brief about 'Vidhatha'.

(4) State the demerits of ancient caste system.

(5) Take a review of life of women during later vedic period.

(6) Write in short about Ancient Indian Coins.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Take a review of the foreign accounts useful for the study

of ancient Indian Institutions.

(2) Write in detail the functions of ancient Indian ministry.

(3) Discuss about the four Ashramas in ancient India.

(4) Take a review of ancient weights and measures.

P.T.O.
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3. Answer the following questions in 400 words each (any one) : [20]

(1) Take a detailed review of judicial institutions in Ancient

India.

(2) Discuss in detail about the various industries in Ancient

India.

4. Write short notes on (any four) : [20]

(1) Types of State.

(2) Functions of Samiti

(3) Features of Ganarajya.

(4) Importance of sacraments

(5) Ancient Indo-Roman Trade

(6) Ancient universities.

80

 :— (i)

(ii)

1. 100 [20]

(1)

(2)

(3)

(4)

(5)

(6)

2. 200 [20]

(1)
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(2)

(3)

(4)

3. 400 [20]

(1)

(2)

4. [20]

(1)

(2)

(3)

(4)

(5)

(6)



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2074

S.Y. B.A. (Regular) EXAMINATION, 2017

MATHEMATICAL PRE-REQUISITES

(Gen.-II)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of logarithmic table is allowed.

(iv) Use of pocket calculator is allowed.

1. Attempt any ten of the following : [20]

(1) Use logarithm to solve y = 83.

(2) Solve for x in terms of y, where lnx = 3y.

(3) What is discounting ?

(4) Determine whether the following function is homogeneous, if

yes, state its degree :

z = x3 + x2y + y3.

(5) Given :

y = ln2x,

find 
dy

dx
.
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(6) Given :

z = x2y + 2,

find 
dz

dx
.

(7) Evaluate :

3x dx� .

(8) Evaluate :

3

0

2x dx� .

(9) State the order and degree of the differential equation :

3
2

2
5 0

d y dy
x

dxdx

� � � �
� � �� �� � 	 
	 


.

(10) What is integrating factor ?

(11) State Bernoulli’s equation.

(12) What is difference equation ?

(13) Solve :

dy

dx
 = x.

2. Attempt any two of the following : [10]

(1) Use common logs to solve :

y = 625(0.8).

(2) Find the present value of ` 500 in three years at 8 percent,

when interest is compounded annually.
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(3) Find the first partial derivative of z with respect to x and

y. When :

Z = ex2 + y2
.

3. Attempt any two of the following : [20]

(1) Evaluate given integration by substitution method where :

4
210 3 .x x dx��

(2) Solve the differential equation :

6 18.
dy

y
dt

� �

(3) Solve the difference equation and check and answer using

t = 0 and t = 1, also comment on nature of the path. Where

xt + 3xt–1 + 8 = 0, x0 = 16.

4. Attempt any two of the following : [30]

(1) Explain Lagged income determination model.

(2) Solve the differential equation :

(4y + 8t2)dy + (16yt – 3)dt = 0.

(3) (a) Given the demand function P = 45 – 0.5 Q,

find the consumer’s surplus (CS) when

P0 = 32.5 and Q0 = 25.

(b) Evaluate :

76 .xxe dx�
�



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [5101]-2077

S.Y. B.A. (Regular) EXAMINATION, 2017

APPLIED MATHEMATICS

AMG-2 : Multivariable Calculus I and II

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [16]

(1) By using ��� definition of limit, show that :

, 0,0
lim | | | | 0

x y
x y

�
� � .

(2) Show that (0, 0) is critical point of :

f(x, y) = (x2 + y2) e(6x + 2x2).

(3) Test differentiability of f(x, y) at (0, 0) where

f(x, y) = x +|y|.

(4) Change the order of integration :

2 2

0 x

� � f(x, y)dy dx.

(5) If

sin cos tf t t i t j e k� � � ,

then find :

2

lim
t

f t
�

�
.
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(6) If

2 3f t t i t j t k� � � ,

find the length of the given curve, for t � [0, 2 14 ].

(7) If

f xy i yz j zx k� � � ,

then find curl f .

(8) Give an example of a vector function u  which has constant

modulus but non-constant direction.

2. (A) Attempt any one of the following : [6]

(1) Let

f(x, y) = | |x y .

Show that f(x, y) is continuous at origin and fx(0, 0),

fy(0, 0) exist. Further show that :

f(x, y) = | |x y

is not differentiable at (0, 0).

(2) (i) Evaluate the given total limit, if it exists :

2

2 2, 0,0
lim

x y

x y

x y x� � �
.

(ii) Find the directional derivative of

f(x, y) = x2 + xy

at (1, 2) in direction of unit vector :

1 1

2 2
u i j� � .
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(B) Attempt any two of the following : [10]

(1) If

   z = x log y + y log x,

x = eu+v, y = eu–v,

then show that :

z z

u v

	 	
�

	 	
 = 2(y + x log y)

(2) Find and classify the stationary points of the function :

f(x, y) = xy + 
1 1

x y
� .

(3) Evaluate :

E

2x dv��� ,

where E is the region under the plane

2x + 3y + z = 6

that lies in the first octant.

3. (A) Attempt any one of the following : [8]

(1) Let f(x, y) be a function defined in neighbourhood N

of a point (a, b). Suppose :

(i) fx(x, y), fy(x, y) and fxy(x, y) exist at every point

of N and

(ii) fxy(x, y) is continuous at f(a, b).

Then show that fxy(a, b) exist and equals fxy(a, b).
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(2) (i) Using differential find, approximate value of :

2 2
13.1 4.9� .

(ii) If

f(x, y) = x2 tan–1
y

x


 �
� 
� �  – y2 tan–1 x

y


 �
� 
� �

,  xy � 0

= 0, xy = 0

then find fyx(0, 0).

(B) Attempt any one of the following : [8]

(1) State and prove Green’s theorem.

(2) (i) Let u  be a derivable function on

J = (�, �).

Then show that u  is a constant function on J if

and only if

du

dt
 = 0

for all t � J.

(ii) Let u  be a derivable function on

J = (�, �).

Then show that u  has constant magnitude on J

if and only if

u .
du

dt
 = 0

for all t � J.
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4. (A) Attempt any one of the following : [6]

(1) Prove that the field F  is conservative on D if and only

if :

F. 0dr ��
around every closed loop in D.

(2) Let C be a curve given by the equation

r f s�

where the function f  possesses continuous third order

derivative w.r.t. arc-length S of C. Then at every point

P r  on C, show that following formulas are satisfied :

(i)
T

N
S

d

d
� �

(ii)
B

N
S

d

d
� � �

where

T  : is the unit tangent vector to C at P,

N  : principal normal to C at P to 
T

S

d

d
.

� : the curvature of C at P

� : the torsion of C at P.

(B) Attempt any two of the following : [10]

(1) Prove that the given vector-function

F , , = sin cosx y z y z i xj x z k� � �

is conservative and find a scalar function � such

that :

F = � � .
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(2) Find the area of the surface cut from the bottom of

the paraboloid

x2 + y2 = z

by the plane z = 4.

(3) Show that :

cos2 sin2tr e a t b t�� �

where a, b are constant vectors is a solution of the

differential equation :

2

2
2 5 0

d r dr
r

dtdt
� � � .

5. (A) Attempt any one of the following : [6]

(1) Let F  be a vector field whose components and continuous

through an open connected region D in space. If there

exists a differentiable function f such that :

F = f� ,

then prove that for all points A and B in D the value

of

B

A

.F dr�

is independent of the path from A to B in D.

(2) Using Green’s theorem, show that the area bounded by

a simple closed curve C is given by :

C

1

2
x dy y dx�� .

Hence find the area of the astroid

x = cos3 �, y = sin3 �, 0 � � � 2�.
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(B) Attempt any two of the following : [10]

(1) Find arc length of the curve

cos sinr t t i t j tk� � � tt[0, 2�].

(2) Using Stokes’ theorem, show that the line integral

2

C

3ydx zdy xdz a� � � �� ,

where C is the curve of intersection of the sphere

x2 + y2 + z2 = a2

and the plane

x + y + z = 0.

(3) Using Gauss’s divergence theorem, evaluate the surface

integral over the cube S bounded by the planes

        x = 0, x = a, y = 0, y = a,

z = 0 and z = a,

of the function

3 2F = 2x yz i x yj zk� � � .



Total No. of Questions—5] [Total No. of Printed Pages—9

Seat

No. [5101]-2078

S.Y. B.A. (Regular) EXAMINATION, 2017

APPLIED STATISTICS (GENERAL-II)

(Applications of Statistics and Theory of Probability)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of statistical tables and scientific calculator is allowed.

(iv) Symbols have their usual meaning.

(v) Graph papers will be provided on request.

1. Attempt each of the following : [1 each]

(a) State whether the following statements are true or

false :

(i) For a discrete random variable F(x) always lies between

0 and 1.

(ii) Multiple correlation coefficient can take any positive real

value.

(iii) Mean of b(10, 0.5) distribution is 2.

(iv) P(A|B) = P(B � A) P(A).

P.T.O.
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(b) Choose the correct alternative : [1 each]

(i) Let A and B be any two events associated with an experiment.

Suppose that P(A) = P(B) = 0.5 and P(A �� B) = 0.9 then

the value of P(A �� B) will be :

(A) 0.1

(B) 0.2

(C) 0.4

(D) 0.5

(ii) If X1 and X2 are independent Poisson variables with mean

m each, then mean of X1 + X2 is :

(A) 3m

(B) 2m

(C) m2

(D) m

(iii) For discrete random variables X and Y, which of the following

statements is not ture ?

(A) E(X + Y) = E(X) + E(Y)

(B) E(X + 2Y) = E(X) + 2E(Y)

(C) E(cX) = cE(X), c is a constant

(D) E(c) = 0, c is a constant.
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(iv) If the equation of plane of regression of X1 on X2 and

X3 is X1 = 100 + 2X2 + 0.5X3, then estimate of X1 when

X2 = 5 and X3 = 6 will be :

(A) 113

(B) 103

(C) 102

(D) 109

(c) Answer in brief : [2×4=8]

(i) State the limitations of classical definition of probabi-

lity.

(ii) State the equation of multiple regression model and give

any one situation where this concept is applicable.

(iii) If X and Y are two independent discrete random variables

with 2 25x� �  and V(X 2Y) 53� � , then compute 2.y�

(iv) Explain the term : ASDR.

2. Attempt any four of the following : [4×4=16]

(a) Define :

(i) Probability of an event,

(ii) Conditional probability,

(iii) Independence of two events.



[5101]-2078 4

(b) One card is drawn from a full pack of playing cards. Four

events A, B, C and D are defined as follows :

A : A  Heart card is drawn,

B : A black card is drawn,

C : A King card is drawn,

D : A red card is drawn.

Find the pairs of above defined events that are mutually

exclusive.

(c) Explain the concept of multiple correlation and partial correlation

in case of trivariate data.

(d) The following data give the sales (in '000 Rs.) of a company

for the years 2001-2010 :

Year Sales

2001 55

2002 80

2003 65

2004 86

2005 70

2006 52

2007 95

2008 66

2009 85

2010 40

Estimate trend by three yearly moving average method.
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(e) What is autoregressive model in time series ? Discuss its uses

in practical situations.

(f) Explain, giving suitable illustrations, the concept of multiple

regression. State the equation of multiple regression plane of

X1 on X2 and X3.

3. Attempt any four of the following : [4×4=16]

(a) Find the numbers between 100 and 999 having :

(i) 7 in the units place,

(ii) 7 as at least one of their digits.

(b) Explain the meaning and usefulness of time series analysis.

(c) The mean, standard deviation and correlation coefficients

obtained for three characteristics X1, X2 and X3 are given

below :

1 1 12

2 2 23

3 3 13

X 105 16 0.6

X 82 38 0.7

X 65 16 0.65

r

r

r

� � � �

� � � �

� � � �

Compute b12.3. State any two practical situations where multiple

regression can be used.

(d) (i) Define probability model with one suitable illustration.

(ii) State the axioms of probability.
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(e) How many three letter words can be formed using the alphabets

A to M when repetition of letters is not allowed ? What is

the probability that those words will not start with a

vowel ?

(f) Describe the method of estimation of seasonal components in

time series by ratio to trend obtained by moving averages.

4. Attempt any two of the following : [2×8=16]

(a) (i) Define Poisson distribution. State the additive property of

Poisson distribution. Also give real life situations where

this distribution is applied. [4]

(ii) The p.m.f. of a random variable X is [4]

p(x) = , 1, 2, ........, 7
28

x
x �

             = otherwise

Find E(X) and V(X).

(b) (i) Define : [4]

(I) Discrete random variable (r.v.) and give one illustration

of it.

(II) Expectation of a discrete r.v.

(ii) A pair of fair dice is thrown and the numbers on the

top faces of dice are recorded. If X is sum of numbers

on the top faces of dice, then obtain the probability distribution

of X. [4]
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(c) The joint distribution of (X,Y) is given below :

Y
1 2 3 4

X

2 0.1 0.2 0 0

5 0.1 0.3 0.1 0

7 0.1 0.05 0.05 0

Find :

(i) P(XY is odd)

(ii) E(X), E(Y) and E(XY).

(d) Compute GFR, ASFR, TFR, GRR and NRR for the

following data assuming the sex ratio at birth as

105 males : 100 females :

Age No. of Women No. of Survival

(In 1000) Births Factor

15—19 400 19000 0.969

20—24 350 67950 0.967

25—29 270 60750 0.963

30—34 240 31000 0.958

35—39 260 11000 0.952

40—44 280 900 0.942

45—49 250 185 0.928
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5. Attempt any one of the following : [1×16=16]

(a) (i) A car rental company has 5 indica cabs to rent out. The

number of cars given on rent per day follows binomial

distribution with parameters (5, 0.9) : [4]

Find the probability that on a randomly selected

day :

(I) No car will be rented

(II) At most two cars will be rented.

(ii) What is demography ? Discuss the need of vital statistics

and the methods of obtaining vital statistics. [8]

(iii) The probability distribution of a random variable X is given

below : [4]

P(X = x) = k, x = 1, 2, ................ 10.

Find the value of k, E(X) and V(X).

(b) (i) For two-dimensional discrete random variable (X, Y)

define : [12]

(I) Marginal probability distributions of X and Y,

(II) Conditional probability distribution of X given

Y = y,
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(III) Conditional mean of X given Y = y,

(IV) Conditional variance of X given Y = y,

(V) Cov(X, Y),

(VI) Corr(X, Y).

(ii) Number of road accidents on a high way during a month

follows Poisson distribution with mean 5. Find the probability

that in a cetain month mumber of accidents on a highway

will be :

(I) Between 3 and 5,

(II) More than 1. [4]



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [5101]-2079

S.Y. B.A. (Regular) EXAMINATION, 2017

PHILOSOPHY

(G-2 : Introduction to Applied Ethics)

(Alternative Course)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words

each : [20]

(1) State and explain patients rights.

(2) Explain the notion of sustainable development.

(3) State the arguments for suicide.

(4) State Ringer's views regarding friendship.

(5) Explain the notion of whistle blowing.

(6) What is the role of media in Democracy ?

2. Answer any two of the following questions in 200 words each : [20]

(1) State and examine anthropocentrism.

(2) What is the moral status of animals ? Discuss.

(3) State and explain Aristole's classification of friendship.

(4) What is meant by corporate social responsibility ?

P.T.O.
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3. Answer any one of the following question in 400 words : [20]

(1) State and discuss arguments for and against abortion.

(2) Discuss the conservative and liberal views regarding homosexuality.

4. Write short notes on any four of the following : [20]

(1) Hippocratic oath

(2) Land ethics

(3) Non-voluntary euthansia

(4) Liberal views regarding prostitution

(5) Media and violence

(6) Corporate as a moral agent.

80

 :— (i)

(ii)

(iii)

1. [20]
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2. [20]

3. [20]

4.  [20]
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[5101]-2079

(Philosophy of Indian Saints)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words

each : [20]

(1) Explain the characteristics of saint.

(2) Explain Basaveshwar's concept of 'Jangama'.

(3) Explain Guru Nanak's concept of 'Sahajyoga'.

(4) State the concept of Maya with reference to Bahenabai.

(5) Explain Kabir's criticism of traditional religion.

(6) Explain the impact of Nath cult on Dnyanadeva.

2. Answer any two of the following questions in 200 words

each : [20]

(1) Explain Guru Nanak's thoughts about ethical and social reforms.

(2) Explain Bahenabai's views on Dnyana and Bhakti Yoga.

(3) Explain Ramadasa's opinions about Prapanch and Paramartha.

(4) Explain Basaveshwara's concept of Bhakti.

3. Answer any one of the following questions in 400 words : [20]

(1) Explain the nature of ultimate reality according to Saint

Kabir.

(2) Explain fully Saint Jnanadeva's concept of Bhakti, Para Bhakti

and Avyabhichari Bhakti.
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4. Write short notes on (any four) : [20]

(1) Saints as socio-cultural reformers.

(2) Saint Kabir's concept of Nirguna Bhakti

(3) Saint Bahanabai's concept of true Brahman.

(4) Nature of Bhakti movement

(5) Maharashtra Dharma—Samarth Ramadas

(6) Concept of 'Hukum'.

80

 :— (i)

(ii)

(iii)

1. [20]

2. [20]
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3. [20]

4.  [20]



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5101]-2080

S.Y. B.A. (Regular) EXAMINATION, 2017

PHILOSOPHY

S-1 : Indian Philosophical Approach

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]

(1) Explain any one general feature of Indian Philosophy.

(2) Briefly explain Mahayana, a cult of Buddhism.

(3) Briefly explain the nature of Upamana Pramana.

(4) State the nature of trigunas.

(5) Briefly explain the nature of soul, according to Carvaka.

(6) Explain Akhyati of Purvamimamsa.

2. Answer any two of the following questions in 200 words each : [20]

(1) Explain Pratyaksha Pramana of Nyaya Darsan.

(2) Explain Samkhya theory of Causation Satkaryavada.

(3) Explain Astangamarga of Buddha Darsan.

(4) Critically discuss Carvaka’s Hedonism.

3. Answer any one of the following questions in 400 words : [20]

(1) Elaborately discuss the nature and kinds of Dravyas according

to Jain Darsan.

(2) State fully the nature of Brhmana, Jiva and Jagat according

to Vedanta Darsan.
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4. Write notes on any four of the following in 50 words

each : [20]

(1) Vidhiarthavada

(2) Yam-Niyam

(3) Anityata

(4) Svabhavavada

(5) Anumana Pramana

(6) Classification of Indian Philosophy.

80

 :— (i)

(ii)

(iii)

[20]

(1)

(2)

(3)

(4)

(5)

(6)

[20]

(1)
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(2)

(3)

(4)

[20]

(1)

(2)

[20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—4444] [Total No. of Printed Pages—4444

SeatSeatSeatSeat

No.No.No.No. [5101]-2081[5101]-2081[5101]-2081[5101]-2081

S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017S.Y. B.A. (Regular) EXAMINATION, 2017

PHILOSOPHY (S-2)PHILOSOPHY (S-2)PHILOSOPHY (S-2)PHILOSOPHY (S-2)

(Introduction to Western Philosophy)(Introduction to Western Philosophy)(Introduction to Western Philosophy)(Introduction to Western Philosophy)

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. Answer any four of the following in about 100 100 100 100 words each : [20]

(1) Explain Aristotle’s views regarding the nature of soul.

(2) State Sophist’s relativism.

(3) What according to Augustine is the relation between God and

world ?

(4) Explain Leibniz’s view regarding truths of reason.

(5) State Locke’s distinction between primary and secondary

qualities.

(6) Explain Hegel’s concept of dialectic.

P.T.O.
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2.2.2.2. Answer any two of the following in about 250 250 250 250 words each : [20]

(1) Explain Socrates’ view of virtue as knowledge.

(2) Discuss how does Aquinas reconcile between faith and reason.

(3) Elaborately explain Descartes’ method of doubt.

(4) State and explain Berkeley’s immaterialism.

3.3.3.3. Answer any one of the following in about 500 500 500 500 words :  [20]

(1) Elaborately explain Plato’s theory of forms.

(2) Discuss Kant’s views regarding the possibility of synthetic a

priori knowledge.

4.4.4.4. Write notes on any four of the following in about 50 50 50 50 words each : [20]

(1) Thales’ cosmology

(2) Nature of form and matter according to Aristotle

(3) Aquinas’ concept of God

(4) Spinoza’s atheism

(5) Hume’s views on self

(6) Hegel’s absolute idealism
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80808080

 :— :— :— :— (i)

(ii)

(iii)

1.1.1.1. [20]

(1)

(2)

(3)

(4)

(5)

(6)

2.2.2.2. [20]

(1)

(2)

(3)

(4)
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3.3.3.3.  [20]

(1)

(2)

4.4.4.4.  [20]

(1)

(2)

(3)

(4)

(5)

(6)



Total No. of Questions—5] [Total No. of Printed Pages—5

Seat

No. [5101]-2084

S.Y. B.A. (Regular) EXAMINATION, 2017

MATHEMATICS

(MS-2 : Number Theory and Computational Geometry)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer each of the following : [16]

(i) If x and y are odd integers, prove that x2 + y2 is even but

not divisible by 4.

(ii) Find �(100) and �(100).

(iii) Solve x2 + 1 � 0 (mod 5).

(iv) Find two Pythagorean triples whose terms form an arithmetic

progression.

(v) Define orthograpic projection and give example.

(vi) Write any two properties of B-spline curve.

(vii) A line x + y = 3 is transformed to another line by using

transformation matrix 
� �
� �
� �
� 	

1 2

.

2 5

 Obtain the equation of resulting

line.

P.T.O.
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(viii) If we apply transformation matrix 
� �
� �
� �
� 	

3 1

T =

2 2

 on a square,

then we get a parallelogram of area 64 cm2. Find the length

of each side of the original square.

2. (A) Attempt any one of the following : [6]

(i) State and prove Fermat’s theorem.

(ii) State and prove Wilson’s theorem.

(B) Attempt any two of the following : [10]

(i) Find the number of zeros at the end of 1000 !

(ii) Find the least positive integer x such that x � 5(mod 7),

x � 7(mod 11) and x � 3(mod 13).

(iii) Find integers x and y such that 963x + 657y = 9.

3. (A) Attempt any one of the following : [8]

(i) If g is the gcd of b and c, then prove that there exist

integers x0 and y0 such that g = bx0 + cy0.

(ii) State and prove Möbius inversion formula.

(B) Attempt any one of the following : [8]

(i) Generate uniformly spaced 8 points on the ellipse :


 �
2 2

1.
16 1

x y
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(ii) Let the intersecting lines y = m1x + h1 and y = m2x

+ h2 be transformed under matrix 

� �
� �
� �
� 	

a b

c d

to � 
* * *
1 1

*y m x h

and � 
* * *
2 2

*y m x h ,

then prove that the transformed lines are intersecting.

4. (A) Attempt any one of the following : [6]

(i) Rotate the triangle ABC about its centroid through an

angle 45° where A[2, –4], B[3, 0], C[–2, 1].

(ii) Find the transformed triangle if the triangle ABC is reflected

in the line 3x – 4y = 8 where A[0, 0], B[1, 2] and

C[4, 4].

(B) Attempt any two of the following : [10]

(i) Show that under transformation

� ��
� �
� ��� 	

3 0

T =

0 1

 the circle (x – 2)2 + (y + 1)2 = 16 is

transformed to ellipse of area 48
.

(ii) Consider the line with direction ratios 1, 1, 1 and passing

through the origin. Determine angles through which the

line should be rotated about X-axis and then about

Y-axis, so that it coincides with Z-axis.
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(iii) Obtain the concatenated transformation matrix for the

translation in X, Y, Z directions by –1, –1, –1 respectively

followed by 30° rotation about X-axis and 45° rotation about

Y-axis. Apply it on [3211].

5. (A) Attempt any one of the following : [6]

(i) Generate uniformly spaced 5 points on the parabolic segment

y2 = 8x in the first quadrant for 4 < y < 20.

(ii) By considering the position vector matrix

� �
� �
� ��� �
� �
� �� �
� �
� �
� 	

1 2 1

3 4 1

X =

1 2 1

2 1 1

with horizontal inclination angle � = 25°.

Find caviler projection and cabinet projection.

(B) Attempt any two of the following : [10]

(i) Find the parametric equation of a Bezier curve determine

by control points 
0 1 2

1
B [2, 1], B [4, 3], B 6,

2

� �
� �
� 	

 and hence

find the position vector of the point corresponding to

t = 0.43.
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(ii) Obtain the transformation matrix for the trimetric projection

formed by rotation about Y-axis through angle � = 30°,

followed by rotation about X-axis through angle �� = 45°

and then orthographic projection on z = 0 plane. Also

determine the principal foreshortening factors.

(iii) Find the concatenated transformation matrix for :

Reflection in X-Y plane

Translate in X, Y, Z direction by 4, 2, 1 units respectively.

Shearing in X-coordinate by –4 units proportional to

Z-coordinate.



Total No. of Questions—2] [Total No. of Printed Pages—1

Seat

No. [5101]-2085

S.Y. B.A. (Regular) EXAMINATION, 2017

(Vocational Course)

COMPUTER APPLICATION—III

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Draw a neat labelled diagram wherever necessary.

(ii) Figures to the right indicate full marks.

1. Answer the following (any four) : [20]

(a) Explain any five aggregate functions with syntax and

example.

(b) What is R.D.B.M.S. ? What are the features of R.D.B.M.S. ?

(c) What is Hierarchical and Network model ?

(d) Explain primary key and foreign key.

(e) Explain like operator.

2. Write short notes on (any four) : [20]

(a) Primary key

(b) PL-SQL

(c) Create Table Command

(d) Normalisation

(e) Triggers.

[5101]-2085 1



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-2086

S.Y. B.A. (Regular) EXAMINATION, 2017

FUNCTIONAL ENGLISH (VOCATIONAL STREAM)

Paper III

(Advanced Writing Skills and Introduction to

Electronic Media)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Write five meaningful word using letters from the word

‘Utilitarianism’. [5]

Or

Describe your family using five adjectives.

(B) Identify the Register of the following paragraph and identify

its markers : [5]

Association football, more commonly known as football or soccer,

is a sport played between two teams of eleven players with

a spherical ball. It is played by 250 million players in over

200 nations, making it the world’s most popular sport. The

game is played on a rectangular field with a goal at each

end. The object of the game is to score by getting the ball

into the opposing goal.

P.T.O.
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The goalkeepers are the only players allowed to touch the

ball with their hands or arms while it is in play and only

in their penalty area. Outfield players mostly use their feet

to strike or pass the ball, but may also use their head or

torso to do so instead. The team that scores the most goals

by the end of the match wins. If the score is level at the

end of the game, either a draw is declared or the game goes

into extra time and/or a penalty shootout depending on the

format of the competition. The laws of the Game were originally

codified in England by The Football Association in 1863.

Or

State whether the style of the following sentences is formal

or informal :

(i) Sir, please take these keys.

(ii) Hey friends can I join you for the party ?

(iii) You naughty don’t play here, go out.

(iv) Silence, please !

(v) Do not park your vehicles here.

2. Write a letter of application for the post of Sales Executive to

Godrej India Limited, Andheri, (West), Mumbai. [10]

Or

You want to apply for the post of Journalist in a reputed news-

paper. Prepare your bio-data.

3. (A) Your college made a survey on personal health awareness among

students of your college. Write a report to the Principal as

a chief coordinator of the survey team based on the following

points : [10]

� No. of students surveyed—boys and girls
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� Which classes

� Type of survey : oral/questionnaire

� Items included : oral health, cleanliness of body, clothes,

eating habits

� Conclusions

� Recommendations.

(B) You have recently been to Hyderabad for an educational tour.

Write a brief report to the Principal of your college regarding

your visit to Hyderabad. [10]

Or

Write a report on your visit to a local Radio station.

4. (A) Write a script of compeering for annual prize distribution organized

in your college. The following points have to be taken into

consideration. [10]

� Opening of the programme

� Lighting the lamp

� Felicitation of the Guests

� Chief Guest’s Speech

� Announcement of winners and their prizes.

(B) Attempt any two of the following : [10]

(1) Is radio becoming a popular media ? Why ?

(2) Comment on the Social Advertisements on radio and their

effect on Society.

(3) Contribution of radio in social awareness.
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(C) Attempt any two of the following : [10]

(1) Which TV Programmes do you like most ? Why ?

(2) Truth is one of the important aspects of news on TV

Do you agree ? Why ?

(3) Account for the usefulness of Educational Programmes

on TV.

5. Attempt any three of the following : [10]

(1) Which electronic media is popular these days ? Justify your

answer.

(2) Which media plays more important role in building public

opinions ?

(3) What are the qualifications of a radio anchor as compared

to those of a TV anchor ?

(4) Which electronic media makes you more imaginative ?

(5) Which would be your preferred career option—Radio or

TV ?



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [5101]-2087

S.Y. B.A. (Regular) EXAMINATION, 2017

TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)

Paper III : Tourism Marketing and Travel Agency Operation

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (around 50 words) : [10]

(i) Nature of marketing

(ii) Pricing/costing of tour package

(iii) Function of UNESCO

(iv) Staff requirement for travel agency.

2. Write short notes on any four (around 100 words) : [20]

(i) Visa as travel formality

(ii) Online reservation procedure for air ticket

(iii) Inbound and outbound tourism

(iv) Railway transportation system at national and international

level.

(v) Format of pamphlet

(vi) Different stages of developing tour packages.

P.T.O.
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3. Answer any three (200-250 words) : [30]

(i) Functions and importance of PATA.

(ii) Commercial and non-commercial types of accomodation.

(iii) Explain travel terminology.

(iv) Social and cultural benefits of international tourism.

(v) Elements of an itinerary.

4. Answer in detail any one (around 500 words) : [20]

(i) Classification of marketing

(ii) Linkages of tourism with travel industry/agency.



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [5101]-2088

S.Y. B.A. (Regular) EXAMINATION, 2017

(Functional Hindi : Vocational)

III

1

(2013 PATTERN)

80

 :— (i)

(ii)

(iii)

1. [10]

(1)

(2)

(3)

(4)

[6]

16 150 300

P.T.O.
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2. [9]

(1)

(2)

(3)

(4)

(5)

[7]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

3. [7]
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[7]

25 

4.

[6]

(1)

[5]

(i) Account-keeping

(ii) Asset

(iii) Cash discount

(iv) Data collection

(v) Apparent cause

(vi) Hotch potch

(vii) Cloak room

(viii) Visual indicator.
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(2) [5]

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

5. [18]

(1)

(2)

(3)

(4)

(5)



Total No. of Questions—6] [Total No. of Printed Pages—1

Seat

No. [5101]-2090

S.Y. B.A. (Regular) EXAMINATION, 2017

(VOCATIONAL COURSE)

COMPUTER APPLICATION—IV

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Solve any four questions.

(ii) Draw a neat-labelled diagram wherever necessary.

(iii) Figures to the right indicate full marks.

1. What is input design and output design ? What is the difference

between input design and output design ? [10]

2. Explain flow chart with all symbols and example. [10]

3. What is software engineering ? What are the advantages and

disadvantages of software engineering ? [10]

4. Write short notes on : [10]

(1) Waterfall model

(2) Spiral model.

5. What is Pseudo code and structured English ? [10]

6. What are Decision Tree and Decision Tables ? What is the difference

between decision tree and decision tables ? [10]

[5101]-2090 1
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